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3.6 Sine 21 Cosine YAl ABHd] i U0 Gl

Q2L 5 ABC s Bistat 9. vRll A, »12d 5 ougil AB il AC 92
VR 0° il 180° 22 Hdell 8 24 28l Hi-{lel, vRupil B 4 C 21 %
UHISL v 8. RRIGBIE»L C, At B <l -l ollggat »uddl eiegil
AB, BC 1 CA AL o3 ¢, a 27 b ad glldle, (g2l »usld 3.15.)

WY 4 ¢ (Sine Yt) SUS ugl Brsiewdl ouogil, daedl R 2udd vl Sine C
a

)

AL WHIRHL 9, i 5 (siel ABC Ml
2u5ld 3.15

sinA_sinB_sinC
a b c

Aordl = Rl 3 3.16 (i) 241 (ii) i sulde B S8 215 Bisia ABC dl.

B B

.
A b C D A b D c
) (ii)
2u5ld 3.16

A

RRilig B 2l ey AC A D i ¥4 ddl ld d4 A el 8. [(1) 3 A4 D 1l 4ol d d AC - doudl 9]
215l 3.16(7) - stesta Busial ABD urell,

. h NN Y
smA=: »ed § h=csin A (1)
~ h NN Y H
wt sin (180°-C) = — 28 5 h=asinC 2)
(1) 24 (2) udl,
. sin A sinC
csinA=asinC,ie., p = - 3)

d % WHLRL
sin A sin B

a b “

(3) ¥t (4) udl

sinA sinB sinC

a b c
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215t 3.16 (i) -l Busiel ABC wie d o w4350l (3) 244 (4) Hal.

UHU 5 : (Cosine Yol) AL A, B oA C BLsiai-l wouil € 1 a, b 245 ¢ 3 153 vRuil A, Bt C «{l il
olLogAL-l dowlsS €l dl

a? =b?+c¢%—-2bc cosA
b2 =c?>+a%?-2ca cosB

c?=a%?>+b%-2ab cosC

Alleadl = w3 Brsia ABC2usld 3.17 (i) 2l (i) Hi >l wad 9,

B
B
4
a h y, h a
L 1
A b C D A D b C
(1) (ii)

2u5ld 3.17
250 3.17 (i) ~L Aeciui,

BC?=BD?+ DC? = BD* + (AC — AD)’
=BD’ + AD” + AC® -2AC-AD
=AB* +AC”-2AC-ABcos A
Yl a’=b>+ c*—2bc cos A
ol % WHIBL HUUSL,
b®> =c®>+a” -2ca cosB
2 c? = a%+ b2 —-2ab cosC Aodl sl

2L 31500 25l 3.17 (i) W waL Hadl asi. &l C AR5l 8.
IR VRUAL AlHALL Sl UL cosine Yot {1 WHIR 250 AU A UsIA

b? +c? -a’

cos A =
2bc
2 2 2
c+a” -b
cosB=———
2ac
2 2 2
a“+b” —c¢
cosC= ———

2ab
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Belg2mL 25 : [steL ABC ML UG S 3,

Alleidl : sine Yo,

e,

e tan

d o wulsl oflel uRRsl ABa 530 w51, 2 URRUML Napier «il A4dl d15 wedld .

B-C b-c A
tan = cot —
2 b+ c 2
C-A c—a
tan = cot—
2 c+a 2
A -B a-b>b
tan = cot—
2 a+b 2
a b c
= = = k )
sin A sin B sin C (&ll?.l)
b-c k(sinB -s5inC)
b+ c k(sin B + sin C)
B+C . B-C
2cos sin
B 2 2
B . B+C B-C
2sin cos
2
(B+C) (B-C)
= cot tan
2 2
(5-5) e (55
= cot| —— —| tan
2
B -C
tan
_ 2
A
cot —
2
B-C b-c A
= cot—
2 b+c 2

Geleal 26 @ siduRl Busier ABC Hi2 AUl s 5,

Gl :

asin(B-—C)+bsin (C-A)tcsin(A-B)=0

el
a sin (B —C)=a [sin B cos C — cos B sin C] (N
sin A sin B sin C
= = = k N 3
» P » (R %)

sin A = ak, sin B = bk, sin C = ck
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sin B ot sin C < Hed (1) Ul 4sdl 249 cosine Yot-il Buulol s,

2 2 2 2 2 g2
asin (B C) = a| bk (u} o (u\
2ab 2ac

zg(a2+b2—c2—c2—a2+b2)

=k(®b?-c?)

d o WHIBL b sin (C — A) = k (¢ — d?)

w4 ¢ sin (A—B) =k (a* - b?)

el dLoll. =k (BP—c2+ P —ad?+a?— b)) =0="%0l.
GewsRel 27: A Glud-l Rileor 2lax PQ ~(l 2L [Bblg P
LA [Brgaiell Glusior 45° vt B [Blgell GRlusiel 60° .
Ul B A2l 2R AB=d . AB > AQ 12l 30° ~ll “R0l
oieitel 8, AUBLA 5 S d=h(3-1).

Gia : augl 3.18 uzell, ZPAQ = 45°, Z/BAQ = 30°,

ZPBH = 60°
wes  LAPQ=45° /BPH =30° 2ul, /APB=15° bugl?t 318
au(l, ZPAB =15° ywdl ZABP=150°
(rswer APQ uzell, AP2= 72+ 12 =2k2 (34 ?)
22l AP =/2h
A ABP 3 sine 3oA-ll GuAldL s,
AB AP
sin15° sin150°
d o A
sinl5°  sin150°
a2l d:ﬁ@sinls
sin 30°
= h(3 - 1) (3% ?)

Gels2el 28 : (usielld wie ABC «l 6llgg AC <L 4ilbiy M uR gldixl Aisidl »1dd 8. wiedl ol BC =7
Wler, CA = 8 lez vl AB = 9 12z 9. 21 alsiell [Big B 249100 15° Al veil Hid2 €. €ldi-l aietal-dl Gl

55l S,
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Bset : 205 3.19 uRA AB =9 =¢, BC=7 4l = a2 AC=8 = b.

AC <L weloly M © l A (HIRL 5) GlusL [Reuril alelell
MP 2iiclell €9, 830, 9URL 5 €lett-il aieiell B (Bl 15° <L vl
§icl? 6.

AABC Ul cosine ¥l GuElal $dl,

7=a

2,2 _ 2
cosC = 2 thT o 49+64_81=% 1) Mlé[?l3.19

2ab 2x7x8
d % WML A BMC 12 cosine ¥ai-il GUdloL S3dl,
BM?=BC?+ CM*- 2 BC x CM cos C.
el AC < ®euliy M sl M = %CA:AL
H12 (1) <l GuAloL S,

BM?

2
49+16-2x7x4x — = 49
BM =7

214, M [Bigat stevisuaion ABMP u:dl,

h
YL 7=tan15°=2_\/§ (G4 ?)
sadl b= 72 —~3)m.

siSugl BLsial ABC |12 %l a =18, b =24, ¢ = 30, dl «{lAl Yeu 4L : (Wt 1 d2l 2)
1. cos A, cos B, cos C

2. sin A, sin B, sin C

s1Suel Bsiel ABC 12 uUBid $21, (st 3 &l 13)

(A-B)
a+b_cosk )

¢ . C
Sin —
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10.

11.

12.

13.

14.

15.

16.

a (b cos C — ¢ cos B) = b% - c?
A
a(cosC—cosB)=2(b—c)cos2?

sin(B-C) b -c?
sin (B +C) a’

B B -
(b+c)cos ;C =acos C

acos A+bcosB+ccosC =2asinB sinC

cosA+c0sB+c0sC _az+b2+c2

a b c 2abc

(B*>=cAcot A+ (c>—a?) cot B+ (a>—b>) cot C=0

b2_ 2 2 2 2 2

b sinoa+ C o i+ E 2P inac =0
a b c

s 253 uR [Rleto el 2is ot Gleg 6. d (Bulae el 15° <UL vl ol-iel 8. 253 UL dat-ll
clndel 35 «{l <2l 2iicen Held-dl s [Bigpiell oldl qa-l 2ladl GRlusia 60° HigH ud ©.

el Glals bl

ol gLy s L ole 913 8. w5 wely 24 Bl/sansl s S Raunl s olly
32 [3l/seusl ast elaeiel wel [Ra 2uel 750 <l vl sad . 218l sells ul ol %8l Rl
R 2LHL

El-l 25 % olgHl 6l qal A -l B wdel 8. Aeluici [blg C ol cal A v qa Bell 2idR s

N oA

250 Hlex i 300 122 6. %l VRIL C 21 45° «ll Sl cll ol 6l clal a2l clR bl (V2 =1.44)

< o
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uslal Gersel

~ ~ - N ~ 3 12 ~ . N
GELERWL 29 : %L x e p oie 6flon AWAUL 1A A sin x = g, cosy = —1—3, dl sin (x +y) <L HEL ALk,

B4, 28 el ot 3,

sin (x +y)=sinx cos y + cos x sin 'y .. (1)
N 9 16
©d, cos? x=1—-sin*x=1-—=—
25 25
4
cos x =*t—.
5

auil, x oflon @M elandl, cos x 8L Y.

4
erl%ﬂ, cos X = ——
5
é.al. ) — 1 25, — 1 ﬂ — g
’ SV TNV 69 T 169
- 5
aall, my=+—.
siny 13

. N N 5
ug y ol aeml elenddl siny 4 e 20l siny = T

(1) ¥l sinx, siny, cos x i cosy «l 4&dl Ysdl,

12') { 4) 5 36 20 56
+ X =

sin(x+ )—Ex['— — =
ORI BT A G

13 65 65 65

Gelgwl 30 @ wlBd S35,

X 9x . . Sx
cos 2xcos— —cos 3x cos? = sinS5x sin 7 )

N | =

q 2cos 2x cosi —2cos % cos 3x
Bsa @ adl, 4L o, > >

lrcos[2x+£}+cos{2x£]cos(%+3x]cos(%3x]
2 v 2 2 2 _ 2 :

S5x 3x 15x 3x
—! cos—+ cos— — COS—— — COS —
2 2 2

2
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[ '(5_x+15_X] [5x_15x]
U pgind 22 {gimg 22,
_5 2 J 2
l | J
— —sinSx sin(—s—xj
L 2

. . Sx
= sinS5x sm7 =9 0|,

7[ * NN
Gewsm@ 31: fan 2 Al Bxa k.

N T

G5 @ WA %, x=o 2419l 2x=£.

- 2tanx
¢d, tan2x = ———
1-tan’x
ZIanE
tan— = 8
1—tan® =
R
QAU S =1 —. addl [ =
, Yy=tan 2 1—y2
Y9l P +2y—-1=0
2422
201, y=T:—1i\/E

T . T
g A slaedl y = tan 3 e 21y,

U
2414, tan% =21,

NN

- 3 3 . X X . x .
Gels 32 : tanx:Z,7r<x<7 , ol smE, cosg v tanE Al HE ALYl

3 . N
G : T<x< > dleudl cosx Ll UL,

aoil E<f<3—jI
o2 2 47

X A~ - X
sin E Y9 £9 Vi cos E SBRL ALY,
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- 5 5 9 25
ed, secx =1+ tan“x= 1+— =—
16 16
5 16 4 N
cos“x =" 2wddl cos x = ——= 347
25 5
N . 4 9
84, 2s5in2 2 =1 cosx =1+—=—,
2 5 5
X 9
sin?— = —
2 10
X 3 .
YL n - = = 547
Sin > \/E ( )
X 4 1
aul, 20082 = =l1+cosx=1-7"=—
2 5 5
X 1
cos?— = —
2 10
X 1 .
Q9L D e 54 ?
CcOoS 5 \/E ( )
¥ sin 3 7\/6'
¢, tan 5 = < \/_ X 1 =-3
cos — 10
Gelgawl 33 @ wlBd s 3:, cos?x + cosz[x+§)+cos2(x—g] =%
1+cos[2x+2—nj 1+cos(2x—2—z]
Gsa: 2l gow = Ltcos2x 3/, 3.
2 2 2

= —| 3+ cos 2x +cos (2x+2—;)+cos {Zx—z—;ﬂ

2
— 3+cos2x+2cos 2x cos?n]

= %[3+cos 2x+ 2cos 2xcos [n%”

= 1{3 +cos 2x—2cos 2x cos E]
2 3

1
= 5[3+cos2x7c0s2x] =% = o oy,
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uslel a3

A 52
s On 3n Sn
1. 2cos — cos ——+ cos —+ cos — =
13 13 13
2. (sin 3x + sin x) sin x + (cos 3x — cos x) cos x =0
X+
3. (cos x + cos y)2+ (sin x — sin y)2= 4 cos? Ty
x_
4. (cosx— cos y)2+ (sinx— sin y)2= 4 sin? >

5. sinx -+ sin 3x + sin 5x + sin Tx = 4 cos x cos 2x sin 4x

(sin 7x+ sin 5x) + (sin 9x + sin 3x)
6. =tan 6x
(cos Tx+cos 5x)+ (cos 9x + cos 3x)

X 3x

7.  sin 3x + sin 2x — sin x = 4sin x cos 5 cos 7

X X X
AAAL UAS U2 WS sin Scos A tan 5 A BHdl Al

4 ~ oY 1 ~ Y
8. tanx = -3 % ) 6{lo YW £9. 9. cos x = -3 ) o{lo AW £9.

10, sinx = — , x i 6{log A0 9.

1
4
ARAA

I -

& 7 Bl adqudl, 7 douss Au 3 210 0 234 sl vl id dl, /=70

N T .
ARuA MY = —X i3 HWY
* 180

) 180 .
@210 HIY = —X YA U
T

@ cos’x + sintx =1
& | + tan’x = sec®x

& | + cof*x = cosec?

X
@ cos (2nm + x) = cos x
@ sin 2nw + x) = sin x
®sin(—x)=-—sinx

@& cos (—x)=cos x

@ cos (x +y)=cos xcosy—sinxsiny

®cos (x—y) =cosxcosy + sinx siny
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K : .
& cos ,2— =sinx

.
& sin [E_XJ = cos X

@ sin (x +y) =sinx cos y + cos x sin y

@ sin (x —y) = Sin x cos y — cos x Sin y

T
@ cos (E"‘xj:—sinx
cos (T —x)=—cos x
cos (m +x) =—cos x

cos (2 —x) = cos x

Y N Y T ~\ Y
SBLx,y At (x £ y) 2 5 oA B AL Sl dl

tan x+tan 'y

=+ =
ek (2= 7) 1-tan x tan y

tan x —tan y
tan (x —y) = I+tanx tan y

@ ALx, y o (x £ ) Yl R AL Sl dl

cot xcot y—1

=+ =
@i (2 7)) cot y +cot x

cot xcoty+1

cot (x —y) = coty—cot x

@ cos 2x = cos?

. . 2tan x
@ sin2x =12 sinX cos x =———
1+ tan“x
5 2tan x
tan 2x = ——7
¢ 1—tan2x

@& sin 3x =3sinx — dsindx

3

@ cos 3x = 4cos”X — 3cosX
3tanx —tandx
& tan 3x 1-3tan’x
. x+y xX—y
& () cosx+cosy=2cos o —
.. . . X—Yy
(i) cos x —cos y = — 2sin sin —=—

X —sin®x =2cos?x — 1 =1-2 sin*x =

T
sin (E"'xj = cos x

sin (T —x) =sin x
sin (m +x)=—sinx

sin 2m —Xx)=—sin x

1+ tan

2

1—tan 2x

X



Gustalmlaa [

. . . Xty Xy
(i) sinx +siny =2 sin > cos >

XYy

(iv) sinx—siny =2cos sin

& () 2cosxcosy =cos (x+y)+cos(x—y)

(i) 2sinx siny = cos (x + y) — cos (x — y)

(iiiy 2sinxcosy =sin (x + y) + sin (x — )

(iv) 2cosxsiny =sin (x +y) —sin (x — y).
& sin=0WAdlx=nm, »dne Z
® % cosx=0 ém,cﬂx=(2n+1)%,nez e Ucdlu uBL A O,
& A sinx=siny &, d x=nn+ 1)y, ne Z i Udlu ugl Ad 9.
® Acosx=cosy &, dl x=2nnty ne Z A Udly udl A4 O,

@ Atanx=tany &, dl x=nn+y,ne Z - Udly ugl A 9.

Historical Note

The study of trigonometry was first started in India. The ancient Indian Mathematicians, Aryabhatta
(476), Brahmagupta (598), Bhaskara I (600) and Bhaskara I (1114) got important results. All this knowledge
first went from India to middle-east and from there to Europe. The Greeks had also started the study of
trigonometry but their approach was so clumsy that when the Indian approach became known, it was
immediately adopted throughout the world.

In India, the predecessor of the modern trigonometric functions, known as the sine of an angle, and
the introduction of the sine function represents the main contribution of the siddhantas (Sanskrit astronomical
works) to the history of mathematics.

Bhaskara I (about 600) gave formulae to find the values of sine functions for angles more than
90°. A sixteenth century Malayalam work Yuktibhasa (period) contains a proof for the expansion of
sin (A + B). Exact expression for sines or cosines of 18°, 36°, 54°, 72°, etc., are given by Bhaskara II.

The symbols sin™ x, cos™ x, etc., for arc sin x, arc cos x, etc., were suggested by the astronomer
Sir John F.W. Hersehel (1813) The names of Thales (about 600 B.C.) is invariably associated with height
and distance problems. He is credited with the determination of the height of a great pyramid in Egypt by
measuring shadows of the pyramid and an auxiliary staff (or gnomon) of known height, and comparing the
ratios:

H
S

Thales is also said to have calculated the distance of a ship at sea through the proportionality of sides

of similar triangles. Problems on height and distance using the similarity property are also found in ancient

h
= — = tan (sun’s altitude)
s

Indian works.

/7
—_— —
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& Analysis and natural philosophy owe their most important discoveries to this fruitful means,

which is called induction. Newton was indebted to it for his theorem of the binomial

and the principle of universal gravity. — LAPLACE +

4.1 wrdilas

MLl AseutHl IS [R5 2 215 il el 8. {2 - Rl salda edla 2

GUIF cl, GLRERIR 2 s 2R AGA ] Gels2el 9:
(a) A5 2 Y 8.
(b) eltL % Yl Hed B,
dell (c) 25RO,
ol [AfiA (a) 2 (b) U €Y, dl (o)l ucdieddl 2iflUd 2 9.
albladl efeal »iL edla A0 oirtiacn M2 suusl avlley 3,
(1) s 2 ol a3 [asiim 9.
(i) oladl [acuor 515 usl AvL 2ou AvUL 9.
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esMl gl ¥ ey Rld aulbaHl vgHIA Hedl 4HY sEdld
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G. Peano
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S

~

3
5wl dsdlaiia sl 4.1 40 ealent el olsel € -

Rlgldd aAuogel =2, IRl

2u5ld 4.1

N

Ul duM cgcdld AR Rl dssl Rl vid, AR dd dsdlpil wil g2, ol % dsdlail

&

-~

Ml 310 udl o o9l 2§ Assl sl 12, el

N

(a) UUH csdl ugel, 2
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aufBilets il wa-l Rgid ©.
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nn+1)
2
st ot vAviz, 2 Aot 3ell Ad B vl ? 2w dl, Ul 2ol w2 v yals Budl

o UMHIBL 212100 Adll dal Wikl 5 515 Fd BB Aol 1+ 2 + 3+ n = AA 8 d¥
e d-l asiael sAe. uIg w0 ulBael ozl s Facdl e 2l Aol 0B el . 2 e
w33l B 3 5155 usi-l uBwAAL 2s el guiar wa 3wl 22l s Avid QR 4 yals
HI2 ol AU 52 Sl 2 ot d uglel de yails w2 s usl AR 2l a2l 63, 2Ll
ulBal aulilets il el nogl i -l wsla.

4.3 sulRlas xqr-l Rugid

AL 5 Wisls Avall 7 Aol s (@A Pr) iy ©.

(i) R4 n=1 4 4 €4 2ed 5 P(1) dcd &4

(i) 91 Qi n =k 412 Acd 1y (Ul k S1S ael yRils ©), dl Qb n =k + 1 412 yo 4cd €1y, xed
3, P(k)il acuelar ueel P(k + 1)l dcuddal $lda ad, dl Pn) 2 dHd wislds qvail

noHIE A .

ot (i) i 3d Rt cdieldl otdid 9. el uel uRRURL Fuis i 3 R dsus
n =412 A Sl 2L uRRAURMD udle (i), n=4 2l A3 Ul A UL 7 =4 112 URRUHAL Al
uslel, 2ed 3 P(4) -l Acueldl.

gt (i) ¥ 2l oy @, tel Rt 7 = k 22 A 8 du e ad el U d e
58 8 %, ol Rt n o=k W2 AU S, dld ono=k + 1 2 usl ued 9. e, R w0 opeiuy
gaud 9 dx UG e M2, Hivl AlRAA Wcll wacler o Bl e U3,

‘gl (B n o= ke A €l dld o=k + 1M usl A 8. s2efls dvid v watetd il
watell dls oweua . [k 7 = &k He Ul © vicl qiReuHAL 2L s HFd watdld s MiHd seudl
58 69,

BeleBl dls, s Aol seudl 53 Gl v ABLAHD d-l ARz Gualatel d s AHs-L uHel

olyolcl €l FHs,

9=32=1+3+5
16=42=1+3+5+7, Q3.

el uell Hleg 5 was ol 2 uigles vl arall A oolle uislls Avadl ol 89,
uaH olel 2Yeu ulslis Avicl 20l 2 sl uisles vl adl 9. 2 uMEl 21210 1AL,

2l BUL R uRefl 1 +3+5+7+ o+ 2n— 1) =n> evldl ©, ed 5 uam n M uislis

ABALBALAL AU 72 <L Al €.
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wIUBL, P(r): 1 +3 +5+7+ ...+ Q2n— 1) =n*avl asly.

Ucls 1 U2 UL P(r) A 8 dd AlGid s3gl

ABLAlL was Al He oulilas simid-l Guaiol M2 P(1) e ¢ dd qlbid s,

2L WALl wa wallky se 6.

NS Y

1 =172l % 9, 2i2d 3, P(1) A 8.

oflog wotelld il Uit sélal. 2el, suuel wRly 3 5155 v yals &k 22 P(k) A 9

el P(k + 1) A A sa-l o3Ruld Glell 2gl. P(k) AL 9, 12
1+3+5+7+..+Qk-1)=k
¢d, 14+3+5+7+ .. +Qk—1)+ {2(k+1) -1}
=R+ Qk+ 1) =+ 1)
We Pk + 1) A & 24 2tiFd A6dl ¢d yIl as.

el P(r) b dxid Ulslds Avaipil 7 e A 9.

BelsawL 1 ¢ 7 =1 HL2; Ad 530 3,

_ nn+1)(2n+1)

124 22+ 32+ 42+, + n? p

Bsd : Wl 3 2Ud [@UHA P(r) gl suldla, 2led 3,

D2n+1
Poys 124204 s g0 2 = 0DCED
1+ ERx1+D) Ix2x3

I 3y o,
6 6

n=1dadl, P(1): 1

HI2L 3, 5195 HA yals k W2 Pk) A 9, ved 3,

k(k+1)(2k +1)

124224 324+ 42+ + K = 6

gd GURL Pk + 1) uRl A 9 ad Albid s ¢d 2uunl w,

(12 422 432 +42 + 4+ + (kb + 1) 2

_ k(k+1)(2k+1)+(k+l)2
6
k(k+1)2k+1D+ 6(k+1)2
6

 (k+1)(2k>+7k +6)
6

(D)
. (2)
[(1) u=el]

(D

[(1) u=ell]



92 i : Rkl 11

_ (k+D(k+1+D{2(k+1)+1}
6

1M P(k) A Sl AL Pk + 1) AL 9.

el oulBules il Ruglcell, asim wiglas vl » 3 [@uid P(n) At 9.
BELSBL 2 ¢ dHd 4 Yals n w2 lbid s 3 27> g
Bid : WAL 5 P(n): 2" > n

Al n =1, dl 2' >1. 20l P(1) 2 9.

k=232 =4>2, ()

21l P2)=P(1 + 1) Ad 9.

g1 5 1ol lel 8195 e yails k Wi P(k) A 9, 212d 3, sk

ga 2Rl AU s 5 A P(k) U S, dLP(k + 1) Ad 9.

k> 132 (1) <l ol olg>t 2 93 dLRid,

2-2k> 2%

wed 3, 2kl >k =k +k>k+1 (k>1)

w2l %l P(k) Ul €1d, dl P(k + 1) ucd 8. vt sulilas sl Rigiael, e3s 4 yals
n e P(n) A 9.

BElgR0L 3t uls n > 1 12 Abd 52 3,

1 1 1 1 n
— +t—+ — + .t =
1.2 23 34 nn+1) n+1
2 Y L+L+L+ + 1 - n .
Gsa s awmel Pn) : 7, Y53 T3 T nn+l)  n+l a9l
N e NN 1 1 1 S b N
AL AL 5 P): — == = —— AA D, H 1 = | U P(n) A 9.

1202 1+1
QU 5 Wslis AvaL kWS Ph) ud 9,

1 1 1 k
P + = (1)
1.2 23 3.4 k(k+1)  k+1

~

n
o’

2

o ~

oAl P(k) A Sld, dl Pk + 1) A 8, dd 2usl Al6id 539l

PRI T TUURN
' 1.2 23 34 k(k+1)  (k+ 1Dk +2)
11 1 1 1
=l— +— +— + .t +
1.2 23 34 k(k+1) | (k+ )k +2)
k 1

Tkl Dk +2) [(1) uzell ]
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kKP4 2k+1
(k + )k + 2)

(ke 1)?
C (k+ Dk +2)

k+1
k +2

k+1
CESES

A AL P(k) U 1A, dl P(k + 1) A i 2l duBllds el Rigid u=ell, das wslds vl
n 2 P(n) A 9.

Bewsel 4 : uds 44 yals 7 W2 Wbid 52U 5 77— 373 4 a3 [Qouwy 9.
B4 : Ul avly 3, P(n): 77— 37 3 4 43 [Aouo 9,

sl iHly 3,

P(1): 7' =31 =4 3 4 a3 [Qeusd . 204 7 = 1 2 P(n) A™d 9.

HIRL 5, Wslis AvAL £ W P(h) ud 9,

wed 5, P(k) : 7F— 3% 2 4 a3 [Qeuad 9 d A™ 9.

2uRl d e N ue, 7% - 3F = 4d avilgl.

gd, 8L % Pk) A 14, dl P(k + 1) At & AUlBid s3gl.

gd, 7hTD_ 3k = gkt _ 7.3k 4 7.3k _ 3k w1

=7(7% -3k + (7 - 3)3%
=7(4d) + (7 - 3)3F
=7(4d) + 4.3

= 4(7d + 3%

fedl A vl il s¢l aslad 5, 76D — 36D o 4 a3 [Qeusy 9.

214, % P(k) A €1, dlL Pk + 1) A 9.

22l oulifes il Rigid Wl 20ld [ad uds a4 yals 7 22 A1 8.
Gelgnl 5 ¢ dwm wglas vl 7w A s 5 (1 + x)7> (1 + nx), 24l x > - 1.
B4 : wRL 3 UG QA P(r) 9,

sed 5, P(n): (1 + x)'> (1 + nx), x > — 1

A8 Al 3 =1 M2 P(n) A 9, 52 5 x> —1 W2 (1 +x)!> (1 + 1-x)

S
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QL 5 P(h): (1 + x)F = (1 + kx), x > — 1 Ad 9. (D

A P(k) U S, dl Pk + 1) 2 x > — 1 W2 AA O dd wlBid sl )]

M, (1 +x)F = (1 + x)f (1 + x) ad.

x> — 1 2uug g, (1+x) > 0.

He (1 + x> (1 + kx) <Al Guyldl sl

(1 +x) 51> (1 + kx)(1 + x) HoL.

ved 5, (1 +x)F 1> (1 +x + kx + kx?) ...(3)

2§l b wislds AvaL © 214 x2 2 0. 208l o > 0.

W2 (I +x+hke+ kD> +x+ k). 2ald (1+x)F1>0+ 0 +4k)x)

2, (e (2) At U2l 2l dullas il Rigidadl da wislis Avail 4e P(n) A 9.
BEl8BL 6 @ UM 52 3,

UAs ne N |2 2-77+ 3-57 -5 3 24 a3 [deury .

Bia : QA P(n) <A wH8l AruRd s34

P(n) : 2-7"+ 3.5"— 5 3 24 a3 [Aeuad 9.

27 43:5-5=24 % 24 a3 Qourd 9. 20l #n =1 "2 P(n) yA 9.

N

Q121 5 P(k) Ad 9,

~

wed 3, 2-7k+ 3-5k_ 5 =24g, %4l ge N (D)
gd, %l WS P(k) A S, dl Pk + 1) At O dd ulid 309,

0.kt 3 skl _g5=9 7k 7l 43 .5k 515 ()
=7[2-7F+3-5-5-3-5F+ 5] +3-5k5-5
=7[24g -3 5K+ 5]+ 15-5k-5
=7x24g-21-55+35+15 5k-5
=7x24g-6"5°+30
=7x24q -6 (55-5)

=7 x 24q — 6 (4p) [(5F=35) 14 A afid & (e ?)]
=7 x24q —24p

=24 (79 -p)

=24 xr;r=Tg—-pwslisvar. 3

28] (3) -l oLl wtlGrealsa 24 a3 [@Qeusd ©. UM %l P(k) ™ 4, dLP(k + 1) Ad 9.

202l, dulas vl Rigidell, uds n e N 32 P(n) Ad 9.

Alf: 55 —5=+

I\
N

W
o~

o k2 | Zh3 N e
5D+ 4 i
3

P e s

45T T +5 T+ L+

Lh
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Belswl 7 ¢ AlBd AU 3,

3
n
124224+ ...+ n? >?,neN

Bsd @ IRl 3 20 QM P(r) .
n3
»§ed 5, P(m) : 12+ 22+ ..+ n*> 3o nE N

13 ~ b S
? > 3 gaudl, n =1 "2 P(n) A 9.

HIRL 5 P(k) ud 9.
k3
ved 5, P(k) : 12+ 22+ .+ k2> 5 AL 9. (1)

~

A P(k) U €, dLP(k + 1) A & 24 AUl6d 5309

8, 12422+ 32+ .+ B+ (k+ 1)

= (1Z+2%+. 4 k%) + (k+1)°

3
> % + (k+1)

[ + 3k + 6k + 3] (o (1)

W | =

% [k + 1P + 3k + 2] > % (k + 1)

w2, % P(k) AL €ld, dl P(h+1) usl At 9. 2ul oulilas sl Rugld el ucdls ne N
H2 P(n) U 9.
Gelgel 8 @ ucls uislas Aval n He sulilas -t Riglael sidisdl Ras (aby? = o Al 520,
Bsd @ wIRL %, wld [@QEd P(r) .

5, P(n) : (ab)" = a"b"
(ab)' = a'b! QlaEl, n =1 S P(n) AA 9.

»ed

HIRL 3, P(k) At 9, ved 5,

(ab)F = a* b (D)
gd 8L % Pk) U €ld, dl P(k + 1) At 8 dy Aleid s3gl,

¢d, (@bt ! = (ab)* (ab)

= (d* bY) (ab) [(1) u2ell]

(a"-a') (B B')

=ak+1-bk+1
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H12 Al P(k) U €14, dl P(k+ 1) usl At . il oulfilers steidiael Rlgid 2R Udls ne N e
P(n) AL 9.

neN e aulfas sl Rigid-dl Gualal 31 Al [l albsid s

n_
1. 1+3+32+...+3"—1=GTD.
2
+1
2. 13+23+33+...+n3=(%]
1 1 1 2n
3. I+ + +..t =
(1+2) (1+2+3) (1+2+3+.n) (n+1)
nn+)(n+2)(n+3)
4. 1:2:3+2:3 4 4.+ nntl) (n+2) = 1

_ (@n- N3 43
4

5. 1-3+2-32+3-33+...+n-3"

nn+)(n+2)
6. 12423434+ 40 ()= |— 3
n(4n®+6n-1)

7. 1:343-5+5-7+..+Q2n-1) Qnt+1) = 3

8. 1:2+2:22+3:2+ ..+ n-2"=m-1)2""1+2

9 l+l+l+ +i—1_i

2 4 8 7o 2"

1 1 1 1 n
10. —_—t— +...+ =

5 5.8 811 Bn—-1)GBn+2) (6n+4)

1 1 1 1 n(n+3)
+ + +ot =
1-2-3 2-3-4 3-4.5 nn+D(n+2) 4n+DH{n+2)

11.

a(r"=1)
r—1

E é Z (2n+1) _ 2
o (2222

12. a+ar+ar*+..+ ar' =
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14, (1+1J(1+1J(1+lj...(1+lj=(n+l)
1 2 3 n
15. P43 4524+ Qn-17 = "(2"_1;(2"“)
11 1 1 n
16. —+ + +..+ =
1-4 4.7 7-10 (Bn-2)(3n+1) (@Gn+l)
1 1 1 1 n
17. ——+ + +...+ =
" 3.5 57 79 Qn+D2n+3) 32n+3)
18. 14+2+3+...+n< %(2n+ 1)?
19. n(n+1)(n+5)» 3l oRd 8.
20, 10271+ 120 11 a3 [aeuwd 9.
21. x2—y 3 x +y a3l [Qeued 9.
22. 32-8n -9 ¥ 8 Al [Aeuowd ©.
23. 417 1473 271 dfRid €.
24. Qn+7)<(n+3)
AIRA
¢ oulBrael Aseuzidl 2t HUALs [RRnRel5 2 2ds wiael 20el 8. s Mils dresil-u wlkiva,
AL [QauRels dxid [@sell uR AR gl © 2 spusl e3s Risedi-u Flas
uedl s i [RsAarellat glal, 2, A0 curiHl s¢l6 dl, [QRre 2l seal [asea
U2l ULUS AU B DU HIA AEAL 2l 69,
¢ RRY Muia oulilas Rl 20 s2an w2 auliles sl Rigic »is Guaioll
Al B, U yeils el Asvude udls vial Rt suuel Pr) wRlel dal n = 1 M2
el 2ucueldar s, usl de yals & *u2 P(k) <l dcdieidl udl 7 =k + 1 32
P(k+ 1)1 2cuieicll 221U 5303y,
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Historical Note

Unlike other concepts and methods, proof by mathematical induction is not the invention of a
particular individual at a fixed moment. It is said that the principle of mathematical induction was
known by the Pythagoreans.

The French mathematician Blaise Pascal is credited with the origin of the principle of
mathematical induction.

The name induction was used by the English mathematician John Wallis.
Later the principle was employed to provide a proof of the binomial theorem.

De Morgan contributed many accomplishments in the field of mathematics on many different
subjects. He was the first person to define and name “mathematical induction” and developed De
Morgan’s rule to determine the convergence of a mathematical series.

G. Peano undertook the task of deducing the properties of natural numbers from a set of
explicitly stated assumptions, now known as Peano’s axioms.The principle of mathematical induction
is a restatement of one of the Peano’s axioms.
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A5 vl 211 [gaud aHlsa0
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**Mathematics is the Queen of Sciences and Arithmetic is the Queen

of Mathematics. — GAUSS %

5.1 widlas

SUURL SHIUGL HIRBLML 25 dd i [gaAd v AHL5W0UAL dal s A4

N

[Zelld AHLSW0NAL B3l A0 sUL. 28 Ay & AW x2+ 1 =0«

)

NS

alkdfds 65d Al 51201 5 X2+ 1 =0ed 5 x2=—194 & 24 515 uel
aldlds Avaidl aol el wd AR, 2], uel 12 = — 1 Alsedl 634
qadl asly dal [gd ol dalzdlds Avdiaeidl [[dl sdl ud. sl
Rl 9124 5 o D =52— 4ac <0 €™, dl [Zeld AHsWL ax?+ bx +¢c =0

~

A4 alfds Bid el WIUR UL HuU BE A vidl Usl-l AsWIAL B34

W. R. Hamilton
qoddl-l 9. (1805-1865)

5.2 s Avalil
=N N s e N s N .2 S (G Y 2 _ ~
uaM AR =1 A ASdAHL 7 ad euldlal, U, T =-1 Ald, ALl AL 2wy 5 s 2+ 1 =0l
CENEEEICS

a, b e RS ddl Aval g + ib A A5 AvAl (complex number) 4315 AlvAIRd sAML iLd €9,
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GelgRl d5, 2+ i3, (- 1)+ if3. 4+i(__1j L A5 AvAAL 9,
11

A5 AL Z=g + ib Ul a A Z+l AUxlds AL (real part) 58 ©. A1 d3dul Re zad salaly 8. b4

Z -l stewlAis eaL (imaginary part) 5& 9. A4 A3dul Im zad saldd 9. Gelexel dl3, A z=2 + /5, dl

Rez=2 ImZz=5.

AN

Lol A5 VAN Z, = a +ib Y Z,=c+id A4 Eld,dla=cddl b =d.
Belg0l 1o ddlas Avalpdl x dal y W2 4x + iBx —y) =3 + i (= 6), dl x 2 p <l [Bud Kl
Bsel: ], dx+i(Bx—y)=3+i(-6) (1)
A58l (1) - dldlds Mol dul steulHs oo qvilddl,
4x=3,3x—y=-06

N 33
WA y=—o1.

o+, uls2weliA Bddi, x= i

5w

5.3 s Avallg olloail@ig
UL (AL 2B 2452 Ava1il Ul 605 il 2l s
5.3.1 6L Us AvAVAAL UAWL
ML S Z =a+ib ¥ Z)=c+id 6l A5 AV O, dHHl AU Z, + Z, {12 YHISL Avahd gin ¢
Z +z,=(a+c)+i(b+d) 2d 2 AT URSUH Y8 A5 HER AL 6.
Gelewl a3, R+ B)+(—6+i5)=2-6)+i(3+5)=—4+i8.
A5 AvALDAAL AL {12 WMLRLAL ARIEHLE Ul 53 € ¢
(i) AdTidL: ol 452 ALA{AL AALDL A5 AvaL g, Hed §, %z, 2 Z, 51 Ul 6 2452 AL 1,
dl z, + Z, >l uBL 252 vl sl
(i) s3UL [Ran: 515 usL ol A5 AV Z 2 Z) R, Z, + 2, = Z,+ 2,
(iii) Al [(Ram: 518 umL o 252 vl z, 2, Z W2, (2, + 2) + 2, = Z, + (2, + Z)).
(iv) URAN WL d2 B2asd WIaed: 215 452 Aval 0+ i 0 (-1l A3 0 &) 2id] 44 & 3 F+il U5
A5 AL Z + 0= Z. 2l A5 AL 0 - HRAU HISH] A2 U2s AL 0 452 AHVAL 56 €,
(V) AAU ML A B2sd w3ded: e35 A s2 Avyiz =g +ib HIE A5 Avdl—a + i(- b)
(—z a3 ealary &)1 AN HIS] dad s Hadl Z 4l [GR14] 4cs 5E 6. 2+i1uel A As1x 91

37+ (=2) = 0 (AU WS+ d234).
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5.3.2 6L A5 AU dsldd : YIRS Z, A Z, 0l A2 AvaIll O, dusl dgldd z; — z,) 13 wael

1 1

SIEI DRIETURE
z,-2,=2 +(-2).
Belewl dls,  (6+3i)—(2—i) =(6+3i)+(-2+i)=4+4i

N

2 Q- i) —(6+3)=Q2—-i)+(—6-3i)=—4—4i
5.3.3 6L s AvARAL ARUSIR HIA 3 Z = a + ib A Z,= ¢ + id O AR Al B, du-l dRusR
Z, z, <A uHel epvdRid ad 9

Z, z,= (ac — bd) + i(ad + bc)

Gels2el a5, (3 +i5) (2 +i6)=(3 x2—=5x 6) +i(3 x 6+ 5 x 2) =—24 + i28.

NaN S

252 AvuiiiAl deusiz {12 uuiel apeiasl 8ud 8, dud 20Ul ABidl 2 gt ikl

Noa Y

(i) Adridl : 6l A5 AvAAAL ARSI A5 AvAl Ad, Hed 5, %l Z i Z) 516 uslL As2 AvaAil
Sl dl Z, Z, 2 uBL s vl Ul
(i) sH-l [au: siSus 6 s vzl z w4 2 Me, 2, 2,= 2, 2,
(i) gl [Ran: siSust sel s dvazl 2, 2, 2 M2, (2,2) Z,= 2, (2, Z).
(iv) ARUSIR M2l d22e B2 s e 1205 252 Al =1+ 0 (3 43d 1 &) »ifzdca 42d 9. el s
A5 Avdlz WS, Z -1 = Z. 21 452 AvadL | A QRUSIR HISHl a2 425 56 8.
(v) OLBUSIR HIZAL Urd Hasd AR £35 9ddR ¥52 Avdl z=a+ib 5 a+bhi(a#0,b#0)

i (27 1 299127 q3 salqid ¢9) 44, 4l 2 Lo, waise
+b? a’+b? z ’ z -

20U, A5 Al "
. 1 b S\ A A b
vl — A Z ol QU2 il i 425 56 8.

(vi) [acua-l [Ruu: 516 ust st s vl z, 2, 2, M2,
(@) z,(z,+2z)=212,+27Z,

(b) (z,+z)z,=2z2z,+2 2,

N N A

5.3.4 6L A5 AvALAAL GUOULSIR: HIZL S Z UrddR Gl del 6L A5 Avalzll Z 24 28, daHl MousiR

2] ~ ~ N
Y 1A YHIRL e LAd i ¢
2

Z] _ 1
2 2

Geleral ddls, z =6+3iuA Z =274,

2 x| _ (6+3i L )
% ((6+3I)X2—ij_( G oy
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S

s qReL 11

- (6+3i)(%) - %[12—3+i(6+6):| =§(9+12i),

53.5 i-lAud

U8l ARl ¢Sl 5,

P =i%i=(-1)i=—i, i4=(i2)2=(—1)2=1,

1 —X=—=—=—1, 1 =—=—=—1,
e, i -l 2 -1
_3_l:i>(£:£:i, 1_4:i:1:1
io-ioi 1 it 1

aus Ad, 515 wel yells ke, 4= 1, At 1= 4kt 2= ) 4kt 3= g

5.3.6 BR ARAlAS vl Ay
uBl Al 5 =1 dal (- i) =it=— 1

212, — 1 Al QOLHO 7 el — i 4l dH 9l Ad3d /2] 2 5/ YUdd.

od, 2UBL AS Al Wlol 5 7oA —j ol AH15WL x2 + 1 = 0 xYal x2=—1 -l G3e 43,

d % wudl, (\/51')2:(\/3)2 2=3(1)=-3
() - (<) -

—3 Al AU Af3 § dUl —+f3; Adl.

qull, A3d /23 2 /3 yAqdl.

»wed 5, /23 = 3i.

s Fld ol g S1S A arRdls vl Sl dl, f—g = Ja =1 =Jai.

1uBl 2A0UG el Slo 5, 35 U dRdlds Avdl a, b WS Jaxb = Jab A4 A a>0,b<0

§Adl @ <0, b >0 14 AR UBL 2L uRRUM uld- A 8. o @< 0,5 <0 S, dl 9 24 ?

Bl il 5,

=1V = (1) (1) = V1 = 1. (5815 uel ards qvizil g 24 b 02 Jaxb = Jab O

dx Hdl ddi)

2L uRaH 12 =1 «f Acuddi-l Qe 8.
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ol AVADAL @ i b oisl 28R dRA[LS S Al g x/b £ Jab -

aoll, %l a i b il oH d s e €l dL AR B 5 g xfb =~fab = 0 W4,
5.3.7 RauHl

2Rl ~{la (R auleid s34

SUSUBL A2 AV z WA 2 M2, (742, =22 422 +222,.

Alordl : nel, (z,+2)2= (2, + 2) (2, + 2,)

= (2, +2) 2z, + (2, +2) 2, ([eug-i-l [Rax)
= z2 2 N

22 42,2+ 2,2, + 23 ([aciog=tl [HaH)
= 224 zz,+zz2,+23 (GLRusIR M2 -l [Ruw)

= 212 +2z2, + zg.
d o Fd 2tusl 12 uHeiAL My AUBd 530 aslal
() (-2, =2 —222,+73
(i) (z+2z, )3 = 213 + 321222 + 32125 + zg
(iii) (z1 -z, )3 = 213 - 321222 + 3zlz§ — zg
(V) - =(5+2) (5~ 2)
VIR, % ARAS AVURLL HIZ A S1A ddl HRLeHL [FetaMl A5 Avaulpil 12 usl ALbid 531 asi.

Belganl 2 ¢ Aladl A5 Avuld g+ bi AZUHD sldl.

@ (—51')@1'} (i) (-i)(20) (—%if

8x8x8 256 256

3
i (@)1 = 2 = st =5kt

BEI8RWL 3 : (5 —3i)* a + ib ¥3UHI sl

G54 : Al (5-3ip = 53-3x52x(3i)+3 x5@3i)?-@3i

125 — 225i—135+27i =—10—198i.

GerseL 4 :(—x/§ +/-2 )(2\/5 —i ) A4 a + ib AZuHl saldl.
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Gra: ad,  (—VB3+4-2)(23-i) = (—B3++2i) (23 -i)

—6+-3i+2J6i =22 = (—6+\/§)+\/§(1+2\/§)i

5.4 52 Aval-l HIAs dl vALg ASR AvAl

-~

QL 5 z = a + ib B AS WAL O, el ARA[s AL 42 41 p2 A z W WS (modulus) 435

AL s 2d O, dA ASdHI |z | a3 slaaqiml 2Ud 9. U, [z | = f,24p2 . AR Av™l a— ib

~

Wz Al Urgolg Y52 AvA (conjugate) V. A A3dHL 7 A3 suladHl d B, 2M, 7 =a— ib.
Gersal dils, | 3+i |=~/32+12 =10, |2-5i|=y22+ (=52 =29,

21t 31i=3—i. 2-5i=245i. 31-5=3i-5

N N .

2AUBL AU S § AR A5 AL z AL ARUSIR Al 2

(=N

1 a iy —b a—ib z
a+ib  a*+b>  a’+b*  a’+b? |Z|2

Z*l =

. z?=|z|2

Qi (Al uRael wdensSel dirdl asia.

SIS WGl 6L s AV z 2z, HIe,

. N E N
(@) |Zl Zz|:|zl||zz| (if) z, |Zz| (| Zz|¢0)
(i) z7,=2 2, (V) ztz,=2,%2, (V) (%J:éL (z,# 0).

GELSL 5 1 2 — 34 1l ARSI Hiell @t 2L

G54 : WALz =2-3i
aell 7 =243 v |z [P =224(-3)2=13
©2—3i L ALRUSIR HieHl @4d

T 243 2 3.

EENNERRNE 13

z1 =

[N

GuR ualil aRidR] «{lal Ad wal Y- Hadl asy

1 243
2-3i (2-3i)(2+30)

Z—l =

2+3i  2+3i 2 3.

222G 13 13 13
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Belgul 6 : (Al A5 AvUlA g + ib ¥3uHL 9l :

0 5+~2i (i) 5
1-~/2i

Gia 3 o] 5+\/§i_5+\/§ixl+\/§i
B Y PR BN - PRAF WY

_5+52i+2i-2
1—(\/51')2

3+642i
1+2

_3a+ 23/2i)
3

— 1+22i

ALY,

5.1

{13 >00a wart 1 &l 10 Ml e3s A5 AvaA g + ib @3uHl saldl.

[
~

.9+l.19 3.

N (51-)(—%1-)

4. 3(T+iT)+i(T+i7)

| .5
6. |=ti=|-|4+i=
5 5 2

1 3
8. (1—iy 9. §+3i] 10.

9]

C (=)= (~1 +i6)

3
I/
[SSRNE
+

W
~
+
A/
N

+

[SSRE
—
|

|

| &~
+
~

U ot 11 ol 13 1 es A5 AvALAL RUSIR Al 2l LA,

1. 4-3i 12. 543 13. —i

14. <3l uelalia g + ib 2A3UHL gl :

(3+i5)(3-iv5)

(V3++2i)-(\3-iv2)
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5.5 2U0L-s 2l 21 yllu 2azu

x-el A p-ua dls wiaviidl uRUR sievel Sedl vl AeelHi sl aeilx

5 alRdlAs Avaaidl e25 sHYSA %S (x, p) 7 AAd XY -AHAAHL At [Big Aol w5l ot def Udly w4

9. 52 AvUL x + iy L A2 $HYSA WS (x, y) 4 XY-AHdAAL wAeid Big P(x, y) a3 efifalas 2ld saldl
sl AU XY-Audd-il (big P(x, p) < Add e A5 AL x + iy HOL.

A5 AvAAL FAl §2 +4i, — 2+ 30, 0+ 17, 2 + 0i, — 5-2i 24l 1-2i <L A3 s4Y5d A A sH(2, 4),

(=2.3),(0, 1),(2,0), (=5,-2), 2 (1,-2) < olilbilas d dd BigHl 254 A, B, C, D, E, 4 F

~

gl 5.1 wiealda 8.

D(2,0)

® E (-5,-2) ®F(1,-2)

YI
2usld 5.1
o AU-AUAAAL Ucds [Ble 2 A5 Aval A1 AdUd s3] ASIA A ASR A¥HdE (complex plane)

2l AL[ws ¥¥4dd (Argand plane) 5&A14 9.

Y
N
b P(x,J’)
'lxﬂ
<
1 & \X
X< 00,0 r g
A\ /4
Y
2sld 5.2

UB2 8 5 Loleg AHAAML A5 AvUL x + iy AL HiAlS |x + iy = (fx2+y2 A GLbig O (0, 0) 4l
P(x, y) 42 2id2 &8 (dusl 5.2).

x-248 Ul (Blevild Aold A5 AVAL g+ 0 WAZUHL €14 6 e p-218 Ul [Blgatid Adld A2 Avl
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0+ ib RAZUHL €14 B, AL wg UHAAHUD x- 218 A y- e GUeAsH AUAAS 28 (real axis) AUl SIEUAS Aa
(imaginary axis) s&d14 .

252 AvAL 2= x + iy 2 Al Bidolg A5 AVAL 7 =x — iy A LS AHAAH] 25N Bigil P (x, y) 27
Q (x, — y) a3 slad O,

elifdfas Ad [f\’{é x,—y) 4 [f\’{g.: x,y) '1_, AlRalAs vadd e 202l WAlis (mirror image) ERETHINE )

(2usla 5.3)

Y
A P(x, y)
X € o >X
\C Q(x,-y)
Y
25 5.3
5.5.1 s vl gdlu a3 v
N . . _ . ~ . SN (S N N N P(z)
HIZL & A5 AvUL z = x + iy - [Bg P al ealdd . Wl 5 &
2
Y . . N ~N N ~N {
(oot s 2uivis OP il doils 7 €9 2t OP o x-ota-il - e 2118l 0
0
UL vRIL oteld (25l 5.4). X <€ 8) >X
prusl el 5 [l P ol cuelals dvaiiicll sHasd %18
(r, 0) gL 2= A woell asia. (r, 0) A [Blg P el gl 2x s¢ v
=\ N LSRN ~ ~ ) Y'
9. uel Galoigl 4o (pole) i x-e-l 4 [e2u-l 2gvu 250 5.4

Al UM (initial line) $€190.
el x =rcos 0,y =r sind
. z=r (cos O + i sind). i As AvUL gcl'l&l 243Y (polar form) s€ld 8. r=,/x2+y? =|z| 2

Zell Hidis © 24 0 3 z -l SIS (argument 244\ amplitude) 9, d- ASdHl arg z 43 galald 9.

Y Y Y
P P
0 0 0
X' X X '
) X ) X X 0
P
Y’ Y' Yv

(U] (i) (iii)
215l 5.5 (0<6<2rm)
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Y ’ p Y Y Y
% 0
X' € 0 >X X' € 0 >X X' € X X oI5 X
0
P P
Y’ Y' Y’ Y’

@) (ii) (iiii) (iv)
2sld 56(-n<0<m)

~

S1SUBL AVUL z 2 0 A AAd O Al A FHd 0< 0 < 21 Hi HA D, dH 9l 21 doilS-L 51 ofloa
WA — 7 < B < el uBL @S wsd 20Ul B Al Brd —m< 0 < mHl Ay, Al z AL yua sle's
(principal argument) seald 9. o eyl sldd L €ld dl d Addul arg z A3 E.QL[CHQ\L;.

(gl 5.5. 244 5.6.)

o y A PO
Gelganl 7 s vl z=1+iy/3 A yelld 2a3uni galdl,
B3d : QR 5 1 =rcos 0, \[3 =rsind X € 0 X
a0l 5309 UALL S, \A
YI
r? (60s26 +5in*0)=4 Bed 3, r=/4=2 (URuRLLd A, 7> 0) susld 5.7
cos@:l, sinO:—B,
2 2
=21
3
. T, . X
Hidlg geld a3y 2= 2[cos§+lsm§J
A5 AvAL z =1+44/3 A 25l 5.7 Hi ealde .
Beisea 8 252 Al — o= 3 gl
A8
BSR0L8 25 vl T o el aaguni Sl
et it i s 18 16 1-ia3
sl SR ALl =
1+iV3  1+if3 1-iV3
~16(1-i/3) P(-4,403) X
= —2
1-(iv3) 0
X' X
~16(1-i/3) 0
B 1+3
YV
= —4(1-iV3)=-4+i43 (usli58) 25 5.8

Q5 —4=rcos, 43 =rsin®
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Qo] 5318 AL 52l 16 + 48 = r2 (cos26 + sin2e)

~

2=64, v2d 5, r=38.

1
all cos O =——, sind = —
2 2

s 2n . . 2%
UM, Hidle Yelli a3y 8| cos—=+isin—

usd 1 2l 2 M wdd 835 A5 AvUIAL HIALS 2 512l AL

1. z=-1-i3 2. z=—\/§+i

wad 3 ol 8 Hi lidd g5 A5 Avalld Yolld 2@3unl $2dl.

3. 1—1i 4. —1+1i 5. —1-i
6. -3 7. 3 +i 8. i

5.6 [gena uHlsen

Y o\

2Bl [gald AH1500 (A9 UREA ¢l 2 3dR [AdAs 81 ¢ld2ed $ D> 0 €ld AR dld[asqval
d8L YR du-il B3e uvl AleAL,

gd sl 12 waelAlL [gald adlsaiddl [ s ¢

a, b, c ARAMS ASIRLSL B A a#£ 0D el ax2+ by + ¢ = 0 .

aoll, WL 5 52— 4ac < 0.

8 2L A5 AvALLRL U 38Rl dRd[Ls Avaid dslya alEl aslal ¢l W2 GuR wuidiL AHlsaxAL
B5e A5 ALAUIRL UR 1AL B,

L _ chEVb?—dac _—bNdac-b’i

2a 2a

~

|‘-v€itt L UAHA Sedlsd wRlaldl 2 ¢ 5 SIS0 urL uHlsRA Sedi ol Hal ? v Ued Al

wida 3 ollyaldid-r yaeid YHA (Fundamental theorem of Algebra) 4315 aRlldl © d- (ulotdl

LWL A1) <iHleL.

“opgugly AL5BUA HLOLHL 24169 5 ofly HAl.”
L uHAAL wRRuA voer % Gualall g 1A uselg ulkeud wa © :

“neldalal sigueld A5 1 ol Hol 9.7
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GEISRWA 9 : G3AL: x24+2=0

Bie @ el x2+2=0

AL 2 =—202d §, x = £+/—2 = £/2i
GElSWA 10: BEAl : x2+x+ 1=0

Bse s dl, B2—dac=12-4x1x1=1-4=-3

o —1+/-3  —1+4/3i

2x1 2

N ~

> Yol B3dl U4l

GewsR 11 : B3el: 5x2 4 x4++/5=0

Bia : 2l 2uid AHlseAl Bdas
2—4x:/5x5 =1-20=-19

uidld Bl SIEVC19 LI 23l
20/5 2/5 '

AU 5.3

AlAAL wHls0 GEAl -

1. x2+3=0 2. 2x2+x+1=0 3.x2+3x+9=0
4, —x2+x-2=0 5. x2+3x+5=0 6.x2—x+2=0
7. N2 +x+402=0 8. Bx2-2x+3/3=0

9. x2+x+%:0 10. x2+%+120

5.7 s dvad iy

wIAL Qoo usl s ol azl dot [Gand s el 2l 530, 21d] vl

-~

UHIRIA €3UMl saldd s Avals @iy albaidl ke uBal agldlal, »1ud dd Gelsdl gl e
ESIETR
BELSRBL 12 1 —7 — 24i «{ Adlyu 2L,
B5a: MRS x+ iy =~-7-24i
(x +iy)* = -7 - 24i

L x? - y® +2xypi = -7 — 24i

arRdlds ool 244 sleulHs el UvudL,
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X2—y2=-7 (D)

2xy =24
[Hﬁ{u%(xz + y2)2 = (x2 - y2)2 + (2xy)2 <Al GualaL s,
(x2+y2)*= 49+576
(x2+y2)* = 625
WM, x2+)2=25 .(2)
(1) 2 (2) u=ell, x2=9 211 )2=16
§WAYL x=+3Aly=+4
SR xp 8L Elatell,
x=3,y=—4¥Qdl,x=-3,y=4
WM, —7 —24i -l WA 3 —4i w1 -3 + 4.
QA 9l :

1. —15-8i 2. —8—6i 3.1—i 4. —i

5.1 6. 1+i

uslel Gelsel

o <. (3-2)(2+30)
BELSRBL 13 ¢ triolg AS AvAL WAL A1202—1)

(3-2i)(2+3i)

B3 @ el 120 (2—1)

6+9i—4i+6
2—i+4i+2
12+5i 4-3i

= X
443 4-3i

48—-36i+20i+15
- 16+9
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 63-16i
25

63 16,

———i

25 25

(3-21)(2+30)

25 25
Gels20l 14 ¢ 1Al A5 VAL HIALS 24 SIS QAL :
015 R
sl T T T T 1+1 -

¢d, 0=rcos 0, 1=rsind
a0l 53 AALIL 2l 2= 1228 5 r=1

cos 0=0, sind =1

i
oo 0=—
2
< 1+ . P |
Hig, = «ll Hidls 1 2 5181LSs — €9,
1-i 2
1 1-i I-i 1 i

(=<l T avna—n 141 2 2

NS

1
HIRL 5, 5= r cos 0, — 5 =r sin®
Buz (i) WHRl-L UL Sdl, r = L; cos® = i, sin® =
V2 V2
a3, — <L s = w1 Salis =%
" 1+i V2 4

a+ib
a—ib’

GewsW 15: A x+ iy = dl Alld 520 5 x2+32=1.

(a+ib)(a+ib)  a2-b2+2abi  a2-b2

Sk

-~

1 i 6316
(1+2i)(2—1) Al ol ASR AL L.

2ab

B34 wel, x+iy=

az—bz_ 2ab ;
a2+b2 a2+p2

Xx— iy =

= — + |
(a—ib)@+ib) ~  a2+b2 a24b?  a24b2
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> : I i et (4 i
SXEY == 2y T (222 T e !

-~ 3+4+2i sinb . N o -
GELSRBL 16 : % ————— Ug ARAAS AvaL €, dl dRdlds 6 LMl
1-2i sind
G54 @ Al

3+2isin®  (3+2isin0)(1+ 2i sind)
1=2isin® — (1—2isinB)(1+ 2i sinb)

3+6isin0+2isin0—4sin20  3—4sin20  8i sind
- = +
1+4sin20 1+4sin20 1+ 4sin20

BUUE €9 & L A5 AvUl didlas O,

sin 0, 212d % sin® =0
o ————= a =
1+4sin®0 S

adl, 6=nm, ne Z.

- i—1 N R

Gelsaul 17 1 s dvall 2= —————— 4 4<l4 2a3uMl 32l
cos —+1i sin —
3 3

Y - -1
Bsa : wél, z=
B,
i
2 2
B 2(1’—1))(1—\/51'
143 143
2(i+ﬁ—1+\@i)
- 1+3
V-1 B+l
= + i
2 2
d, \/52_1=rc0s 0, %=rsin 0 dl.

a0l 530 ARALL S,

A e

2 2 7 7

2

-1 J3+1
Aol r= Y. cosd=——, sind=——
reN2 e, cos0=5 g
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Ry

we, g=24+2
4 6 12

St . . 5m
4, Yol 43y V2 (COSEH smEj 93l

uslel ety 5

[

%13
NN '18 1
(3ud L : {l +(;) }

SIS UBL 6L 252 AL z) VA z,HI2 A S35,

[ ]

Re (z, z,) = Re z| Re z, — Imz, Imz,

1 2 \(3-4i) . . .
- o}
1—4i 1+i 54 " WHLUBLA RAZUHL ’-LSL

w0

a—ib

c—id

o x—iy=

=

c“+d

{12 2Avauiia Yellu 2@3uni 324l

N

LT 143
0 (aiy i 15

Y, 6 4l 9 AL s w50 B3l :

2 20

6. 3x“—-4x+—=0
3

7. x2—2x+§=0
2

8. 27x2—10x+1=0

9. 21x2-28x+10=0

N LAt
10, %z =2—iz=1+id |——"| .
21_22+1
2 2
. Wat+ib= 2x2+1,dla —(2x2+1) Allold s,

12. HIRL S, Zl=2—i, ZZ=—2 + i

. Z;z .. 1
(i) Re(lsz] (i) Im [;] ey
1”1

\ \ NN 2 2+b2
1, L AUBId S 5 (x2 +y2) =E2—2.

CIIETES)
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. 1+2i . . N
13, A5 Av ﬁ AL HiLS dal S18LLS AL
— a1

14. % (x — iy) 3 + 5i) 3L —6 — 24i <ll 2A-ioig A5 AvUL €Y, dl ARA[LS AV x 244 p 2L
1+i 1-i

15. 1—i 1+i <Al HIALS 2L

by ~ ~ NN u v 2 2
16. %A (x + iy =u+ iv S14, dl oldldl 5 ;+;=4(x -y9).

B-o

1—ap| il Bud 2t

17. % ocisl Bt [ ds vzl €ld dal Bl =1, dl

18, adlsam [1-i[ =2 - grid? yails Bieledl v ol
19. A (a+ib) (c +id) (e + if) (g + ih) = A+ iB, €14 dl, oldldl %
@+ 1) (@+ ) (@417 (&4 1) = A2+ B2

m
1 + l N d NN
20. [ﬁj =1 oy ddl m L Yetau yals Bud e,

ARIA

@ Ul a A b ARAS Avall © ddl @ + b USR]l AvALA A5 AvAUL sSUU 9. g A WS AvULAL

NN

RS oL dal b A dHl sleulss ML sealy 69,
QHURL S zy=a+ibd z,=c+id, d
(i) zy+z,=(a+c)+i(b+d)

(i) z,z, = (ac — bd) + i (ad + bc)

a 9 NN N
@ £35 AR AS AV a+ib (a# 0, b #0) L Aol A5 vl T3 7 +i 22 R H1d 9 3,

a i —b
i
a2 +b2 a2+b2

(Y

N A A NN AN A 1
j=l+i0=l.d"l z=a+ib -l A $€ &9 dUl d-l AS5d — wYal

Z

3l (a + ib) (
el salan 9.
& S ue yals kwe, =1, M= M= AR

N —

@352 vl z =g+ ib ~{l 2iolg A2 AvAL (B ¥ T W salad B) T =a—ib.

@52 AvuL 2 =x + iy | 4clld 293U 7 (cosO + i sin®) O, UL = y[xZ+ y? (z -l W) A cosd =

b

N | =

>

i) = 2 (0 ¥z -l s12lis5). %16 -l Bud vidld —m <0 <UL €l dl dd z <L Hud S1als sE ©.
r
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@ 7 &AL olgugld A58 1 ol WAL 8.
% b2—4dac <0 ¢ cll [geld AHsW ax® + bx +¢ =0, a, b, ce R, a=0 -l ollx

—bi«/4ac—b2i 8

2a

X =

Historical Nofte

The fact that square root of a negative number does not exist in the real number system was recognised
by the Greeks. But the credit goes to the Indian mathematician Mahavira (850) who first stated this
difficulty clearly. “He mentions in his work ‘Ganitasara Sangraha’ as in the nature of things a negative
(quantity) is not a square (quantity)’, it has, therefore, no square root”. Bhaskara, another Indian
mathematician, also writes in his work Bijaganita, written in 1150. ““There is no square root of a negative
quantity, for it is not a square.” Cardan (1545) considered the problem of solving

x+y =10, xy =40.

He obtained x=5+ /_15 andy =35 — /=15 as the solution of it, which was discarded by him
by saying that these numbers are ‘useless’. Albert Girard (about 1625) accepted square root of
negative numbers and said that this will enable us to get as many roots as the degree of the polynomial
equation. Euler was the first to introduce the symbol i for \/_1 and W.R. Hamilton (about 1830)
regarded the complex number a + ib as an ordered pair of real numbers (a, b) thus giving it a purely
mathematical definition and avoiding use of the so called ‘imaginary numbers’.
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YU HAHAIL

“* Mathematics is the art of saying many things in many
different ways. — MAXWELL**

6.1 wdllas

AL FIRRUHE HUUBL 215 A Y0 AH500L dal o Ad-{l v s Al B5a Hoedl 6. auil
2Bl Sedis (ALl gl asidal seusadia uel viial A4lse0Hl uRaldd sul ¢di 2 d-il G3a qoedl
gl. 8 ussl A0S Ad Wt Gead 3 UadlRHl AL Ucdls seustd uRad- Al wn d %31 & ?
Belganl d3, damirl adul ol o (el Gas 160 A4l 28l O, duiL doldl dydi ay
60 2oid & vRUlYL & ol AHLS U5 . xSl 2Rt 2l [l o 8 5 Ful < (Al 1), > (Al ay),
< (Al 2 5 olR1e1R) 2 > (2l a4, 3 6lR161R) Fal A5l Ul Geotdl a5 8. widl wldeulsan Ym HAHA
(Linear Inequalities) & 9.

VUL USTRAML UURL S5 AAUL AUl 6L AAHL Y0 AAUALDAAL 01 53190, ARid, [Asiiq, Aisslaiziul,
UM, HUAdHeAl Wl (52 BHdrl Wal) (optimisation problems), AL, HAl[@Astix A2l A0 5L

A9 ALAL GUAL(L 9.
6.2 AAHAAL
sd wuel sedls uRRalautl [l :
(i) (A T200 dSA 2Ll vledl 61oUl 20U 9, AlviL 215 Belldl UseHl Guest 9. 1 [l AL dsesl

NN NN AN A

Hd 30 9. ¢d o x 2 a2l wledl Al sl Aval suld dl, del val 53¢l ga 254 T 30x 21,
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~

2l A Alviel Usel o vileaidl gl d Y2u 2200 AL v 4R s a5 (347?)

2], 30x < 200 (1)

el 22 €9 5 ulnuH (1) AHLswL Al 51281 5 dHl AHALAL A 5d Al

N ~

(i) 3WML U T 120 9. duidl d sedls 20222 i U viledl Hidl O, ucls Al [(EHd T40 214

N A

s el Bud 720 9. 21 uRRARHE 29412 viled el dval x 2 Ustedl Avdl y €1d dl d-il

glal v2l 4dd §d 254 T (40x + 20y) AUl
244 dell 40x + 20y <120 (2
21l URRARHL W 23dl 56 254 T 120 €15 A3 8. dl 24], 21u8l %S Sl 12l 3 [Qrid (2) 6 Mo 9.
40x + 20y < 120 . (3)
2 40x + 20y = 120 S C)
(G (3) 2L uHl52 A2l d 215 vAMAL O, 312 (&1 (4) w5201 9.

vl 1 2 6 arralds dvarl 5 6l%s yelad] 4@ ‘<’ >’ <o > pdl HoYL HAHAL 23 €9,

GuAL (8Ll (1), (2) 2 (3) AAUHAIAL B, 3 < 5; 7 > 521 AvAlHS ALl Gelewell .

x<5;y>2;x > 3, y< 43 Alots AAHALAL BelewAl 8,

3<5<7 (Al 56 3l HRLS e 7l Ul 9), 3< x <5 (AlALix 2 3 A A 2189 3 ol Hiel
O Sl AALY), 2<y <4 B [Z-21AHdLAL Gelgell O,

AAHALALAL Sedls Beleell {1 yyor ¢

ax +b<0 .. (5)
ax +b>0 .. (6)
ax +b<0 )]
ax +b =20 - (8)
ax + by <c . (9)
ax + by >c .. (10)
ax + by <c (11
ax + by = ¢ .. (12)
ax* +bx +¢c<0 .. (13)

ax* +bx +c¢c>0 .. (14)
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HAUAAL(5), (6), (9), (10) A (14) S Yo AAHAL (strict inequalities) B. w412 (7), (8), (11), (12),
2§ (13) A (A8 2aHdl (slack inequalities) 53 €9, HAHAIML (5) &l (8) 2 15 A4 x il Qiﬁb{ VAL B,

~ N

(24l a # 0) AHAAL (9) 2l (12) 24 AR @ dAdl b HI2 6L A x sl y UL A0 AAHUAAL 8.

(=N

AAUALAL (13) 20 (14) 2L Y0 AAHAAL AL (8515dHE dl @ #0 M12 2L 215 Ad~Al [Zald AUl B.)

VUL USWHL UG §5d 215 A i 6L Al YIuL AAUALAL % eA1A 533

6.3 s AQUL YIu 2AUALDL A5 G3a 27 d-f 2udv u2 [Fgue :

[etar 6.2 <At Rse(1) M0 20Ul Wl 2184dl 30x < 200 sdl. 216l x 20 Alvuel Usesdl vl sald
9. vl 2ure © 5 x 2 wRL yRils 5 wyls AvaL 1S A3 AR, L AAUALUD S6dl 611y 30x 24 el
ol 200 9. dal

o x =0, dl, $16il 617 =30 (0) = 0 <200 (el 611%) A ©.

ol x =1, dl, $lofl oty =30 (1) =30 <200 (el 611%) A 9.

ol x =2, dl, 16il 6l1% = 30 (2) = 60 < 200, A4 V.

o x =3, dl, leil 6ller =30 (3) = 90 < 200, A4 V.

oA x =4, dl, $16il o1y = 30 (4) = 120 <200, A4 6.

o x =5, dl, d16il 6l =30 (5) = 150 <200, Acd .

A x =6, dl, slofl 6l =30 (6) = 180 <200, A .

A x =7, dl, steil eltg =30 (7) =210 <200, [(Hea1 6.

Guarl ulRRalaui 211usl oS aslat 9ol § x (1 % BFHdl {2 2uHdAl dcufuiq sald dell Fudl
0,1,2,3,4,5,6 9. x <l % Budl ®2 vAudl acf@ad sald ddl Budid 2udidl 63 s 8. 2al
dMLH B5dlYl otedl a8l {0,1,2,3,4,5,6) A AAHdALAL G536 AL 58 O,

24, Al ¥ [BHdl H1E 219 25 A 2AHA A (A4 gald d BHdlA saHdil G sE 6.

UL GUHl 2AUALAL GFe Udt gL ali-Mare uglial Aol 2 oy siay uglt -l

gulldl 2d 2 uglt vot ux Wl d ddl 2 s025 [BLa2AS1RS O, URA HAHALAL B4 UL dY

A2 Ad A Aalad Ad Bsd wal ddl ugla-ll %32 ©. 2L USdl 2UBL dvALHS HAHCAL S26ls 4

LRl A B A AAUdLAL B3d Haadl aud dH-dl Hum dl3 Guaial 5309,

A0 A5 B34 Haadl auid dd 1AL [l dle vl

[Raw =1 Aaxls01] oid ool AL Aval GAR (5 axidl olie) 530 asid O,
[Ruy 22 axlseidl oid ollg A 9-AdR AvaL ad aeil (5 euoll) asia 9.

AAUALAAL B5e Haddl avid uelL 2usl 530 i % [FHasi-l Gualol s3g, uel 2iusl Fas 2 3
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ALl ML seL, AL ol oyl AUl BRL AvAL a3 Rldl (5 eatdl) AAHALAL [Ra]

Glaets o 9. (FH 5, ‘< A olgd >, < A olgd > A1) 2L {l2AAL €5lsd udl e 9 :
3>2 uid -3<-2,

—8<—7 Uid (-8)(-2)> (= 7)(~2),>ed &, 16> 14.
UM, AAHALAL B5e M2l [FuHL 12wl ¢ -
[Aum 10 2audirl oid ollogot A4 AvaL GHAL 5 duiel olie sl d-il Faudl oteeid] <.

[ 21 2puudle] oI o1y WML 4L 2401 A oLRIdL S eldtdi HaudilL Fausl sleaid] e, wa 214t oid

6L L AL BBL AvAL A3 IBLAL 5 ALl ALl (el Glaerd wma ©.
LAl 8d, ULl S2dis Geleell-dl Qa1 s,
Gelgel 1 (1) wislas v x (i) yauls Aval x 2 30 x <200 G3ell.

Gsa: ¢l 30 x <200 iUd 9.

SN 3O—x<@ ((Ru4-2)
30 30
aql, x< %
(i) x wislas vl Sid dl 131 Badl 112 Haudl Ailads sald 8.
uiglees vl 1, 2,3, 4,5, 6.
AUALAL B34 a8 : {1, 2, 3,4, 5,6} 9.
(i) x yeuls Aval €U dl ud AAHALIAL B3a...—3, 2.-1,0,1,2,3,4,5,69.
wAHALAL B3e 2L {.., —3,-2,-1,0,1,2,3,4,5,6} 9.
BeldaeL 2 ¢ (i) yeuls Aval x (i) AlRdls AvaL x W2 5x — 3 < 3x +1 B3l
Bsa: el 5x-3<3x+1
5x3+3<3x+1+3 (Hax 1)
S5x <3x+4
5x—3x<3x+4-3x ((Ran 1)
2x <4
x<2 ((Fum 2)

() xyRus AL U dl wdE AUl B3e ., —4, -3, -2, - 1,0, 1 9.
() U3 x ARdAlds AvUL Sl AR AU AAHALAL B3 x < 2, ved, 2 9l 29 €ld Al duun

Al (s vl 9. dul il 2AAHALAL B5d AV x € (= o0, 2) O,
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Rl AAHAAAL B3d uiglas Aval oL, yoils AvaoLL 2w drdlds Avaomi Lol
waell oul ust MERL saM0 20 4 1A, QL 2L WSWHT 2UUBL AAUdLAL B3a dals AvaloRini
qadls.

Gelsaw 3 1 4x + 3 < 6x +7 GdL.

Bia: Al dx+3<6x+7
2l dx —6x <6x +4 — 6x
2L —-2x<4 YL x> -2

2], 20 291 G5e — 2 2l HIZL UAls didls AvalelL 2Rl 9,

(B3 218 (=2, oo) 9.

CAREIPE _32x S%—S B3l
N 5-2x _x
Gsa 3 SE_S
2l 2(5-2x) < x-30.
2L 10 —4x<x-30
24l —5x<—40, ed 5, x > 8

1], U 2AAHIAALAL B3d 8 ol HIZL 5 8 A UM UAS ARAlAS Avul x 9. B3a oL [8, o0) .

GEISRWL 5 vAUAL Tx + 3 < 5x + 9 <l B3 2] el AL AvAR vl YR saldl.

G4 : Tx+3<5x+9
Y4l 2x<6
UYL x<3

UG AUALAL AL U2 215[A 6.1 WS el

-4-3-2-1 0 1 2
25ld 6.1
3x—4 _x+1 N NN N NN a N
BElB28L 6 : AAHL > ZT—I Al B5e AHL 2 de, AuARBL YR saldl.
G
3x—4 x+1 1
2 4
3x—4 x—3
YL 2
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20Bx—-4)=>2(x-3)
6x—82>2x-3
S5x 25 vUdl x> 1

G3a AvaRviL U2 2usld 6.2 1 galda O,

T T T T T T
—4-3-2-1 01 2 3 45 6

>

2usld 6.2

Getsaw 7 : 3ts (el dizee 1141 uan 244 ol A2l ulaui 2458 62 244 48 9@ Had 8. ¢d del

QU5 ulauni Seal =yAdi o8l Aadal ASH 5 gl del A3209 9181 LML UL 60 ALY ?

Gsa @ w3 [enal alls ulauml x o uid 53 9, dl

w >60  ad AaL.
el 110 +x> 180 aq, AL
el x>70 ad, LS.

well, [enallol A9 YAdH o3 60 52l W2 Alfls ulaini Ysidy 70 2181 dldal U3,

G201 8 : 6L USLAL Uks 10 2l {2l €1 24 il wa0ll 40 ol 291 S dal 565 1o yalsi-l %18 Aadl.

by NN [ ~ G NN b ¢ b N
B5e HIRL S, 6o 5(Ms 24500 YRUSIML AL 2404 YaUls x 6. dl 6l 24404 YRIS x +2 2. $d Usd AR

x>10 (D
e x4 (x +2) <40 . (2)
(2) uRel, 2B 2x + 2 <40 4,

x<19 e

uRRUAML (1) 214 (3), udl

10<x<19

x 21404 yails dlaiell x 34 11, 13, 15 244 17 185 23,

dall, asd sHysd you (11, 13), (13, 15), (15, 17), (17, 19) 6i-i.
U 6.1

1. (i) wislas 2ival x (i) yails vl x W12 24x < 100 Gl

2. (i) wslas v x (ii) wails 2Aval x W2 — 12x > 30 G3dl.
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3. (i) wals v x (i) ARclas Aval x 2 5x—3 <7 Gl

4. (i) yals vul x (i) ARcA[@s dvul x H2 3x+ 8>2 B3l

AlA] 52l 16 s3] AAHARAIAL UA[As AqvUl x e B3 Hadl,

5. dx+3<5x+7 6. 3x—7>5¢—1

7. 3(x—1)<2 (x-3) 8. 32-%22(1-x)

9. x+§+§<11 10. §>§+1

11. 3(x5—2)S5(23—x) 12. %(%xﬂ]z%(x—@

13, 2(2x+3)-10<6 (x—2) 14. 37-(Bx+5)>9% -8 (x—3)

- £<(5x—2)_(7x—3) 6 2x-1) > (Bx-2) 3 2—x)
4 3 5 3 4 5
{12l 17 = 20 s3]l AAHARAAL B3 HAAL A, A A0 U saldl.

17. 3x—-2<2x+1 18. 5x—-3>3x-5

> (5x-2) (1x-3)

d
2 3 5

19. 3(1-x)<2(x+4) 20.

N oA A

21. 2Aaxt ugdlol 2sH LALRML 70 2 75 Rl Hadd 9. gd dgl e AL Sedl y-dy dLBl
qoaelell B1Su 5 gl del 422090 L BLLLHL UL 60 AL ?

22, 515 ds voARAsHHL A A Haddl Hie uid ulai-dl 432U 90 5 del Ay 9RL dldl AH.
(825710100 oLl dal ula). ol A-{ldil yas A1 ulaidl 948t 87, 92, 94 4 95 €ld, dl d- d
ACAASHHL AT A HA 2 H1e dRl uiAH] uletl Ydy Sedl Rl Haaal A Su?

23, A UL ucis 10 9l Al €l 2 FHeAL ALl 112l af €l dal sBs 21404 U yalsi-l 41g dadl.

24. A uflucis 5 el HiZl €l A FH-AL ALl 23 Al 2L €l ddl s0is 3o ua yeiisil A Hodl,

25. Busiadl Al Wil oy -l dons d«l A6l il ool coitsS sl »121 ol 9. 2 Raia-l >l
or1gg il |2l ol 2 AHL Al S, Busieil wRMR 2ionl 2l 61AH]L Sld dl A1l ALl
oL il Y eidd coilsS ikl

26. s Alsd 91 AHL @lotl 315 wLRULelL 2181 2541 54l HIdL €9, ofloa 2551l ot ALl ALl gssi-il
dolls sdl 3 AHL Ay 8 A oo gsiiel doils ALl il sl doinSell enell 8. o 2l

251l doils oflon gssiel doldel i »iiegl 5 AH] ay Sl dl Al Al gssisl asy doils L.
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[Re2uml c o el Al 2580l ot x €l dl (x + 3) i 2x s ol e ollo 258l doils

9. 2L d x+ (x +3)+2x <91 A 2x > (x + 3) + 5].

6.4 6L AGH] YIuL HUUALIAL 20Av el B34

2101GAL [AGLAML AUBL 215 Al AAUHALAL HLEAV, B L E2AHI YA 8 Aol BHAHALAL B5ed %

NN

s2clil 915 2500 A B, 84, UUBL 6L AU Y0 AAHALAL LA (A9 22l 5309,

Y
v A
A A
Qi suell Buasi I
ooy 619 »Hde
edd et
| 11
X' € >X
o X € >X
o I
{12
/ edel
A\ 4 v \
! YV
2u5ld 6.3 25l 6.4

~

2148l el Sl 5 siADE wd ugliMl v glRl dH-AHdAd 6L oMl [oud 9. uds

)

c

Ml 2#Ydd s& 9. [Aciol vl gl WH-AHAA dof HAAA A WUR] A 2 6L AL Aoy

e B 2 BRlder 4 dl ddl L gl wH-Adad Gutl A AL AAddml Qouy w8,

(2uslt 6.3. 911 6.4.)
¢4 AH-UHAAHL 2094 SISUBRL [Big 51 dl w1 U S8 Al a1 2aal [T 4l ¢, ¢d, »iusl A5l 3

R

Auddul U (Bl AAUAL ax + by < ¢ MUl ax + by > ¢ Ul 515 Ao © 5 A3,

CAURLS ax+by=c a#0 b #0350, (D

ed 18l s1dusL [Big (x, y) HI2, 218l ASAAIL 9.

(ax+by=c (i) ax+by>c (i) ax+ by <c.

w0l e 9 5 [Asey (iHl 2 Bigal (v, y) [Asew (i) £ A 52 d ucdls [Blg d Wil urd
[Big, & i i Ucllu weL A 8.

ed [Aseu (ii) Al (2R sP2 Alad 4 s h>0 9.

HIRLS WL ax + by =c, b >0 U P(0,B) sl unL Big 9.

a0+ b =c

sd, 2det 114 518 Big Qo 7) dl. (2us 6.5).

DY

gl well evild o © 3,
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. Y
Y>B (547 A
? Q (a9Y)
wMUdl hY > BB MU ao+ by > ao+ bP (34 ?) \ ;
: 1
AYAL ao+hy>c '
P (o)

M, Q(0r, Y) HAHAL ax + by > ¢ < AHIHIA 52 D,

”
A
@---

W, ax + by = ¢ L GUL 2Hde 11 A 2ude uds Big 0 L =

ax + by > ¢ o AUIAA 54 NP N
2wl Glag, W 5 P(o, B vl ax + by =c U+l 519 5[ 6.5
ugl [ig 9 4 Q(at, y) (Big ax + by > ¢ L AHIA 52 .
dl ao + by>c
ao. + b y> ao. + bP (31 7)
v>B (- 5>0)
24, [Big, Q(an, y) 2hdat 11 +i ide 8.
4 AHdd I1 AL uds Big W2 ax + by > ¢, 2 208l Qad ax + by > ¢ <L A 52 UAs [Big

A 11 Hi 20dd B,
b< 0,2 usl Guz gl % 2Al 45 A3 A i 53 wsid 5 ucds Big § % ax + by > ¢ f AHLA 53
d wtdd T3 2dd © 2 241 Glag usL Acd 9.

2 2L uRAL ARl s 9 5 ax + by > ¢ < A 53 def UAs Big H>0 5 5H<0 AR AHAd

13 14l 516 25 AdAHl €ld 9 2t Glag uBlL A 9,

WAHAL ax + by > ¢ <L 21du AHidl 215 dd A, (A G3a 48U sead) 2 d- AHdaHi To(l

yeal dzld salaid €.

by ~

AL : (1) Bl AUl AYel B3a AMAAL S1A dell Ue A AAHdl4l G54 Ued 58 9.

(2) 515 HAHAIAL B3 UL vl HIZ d Jvildl SISURL AHs 2Hddt [Blg (a, b) dl (¥ 3ul UR

A A A

4 gld) A d By d AAARALL AHELA 529 5 A d ASRAL 8d A d [Blg HAHALG AHEIA 52l d

>

NN

(bl % hddul © d whdd G5a UL © 24 d AHdd 3904 53 AR dl d Bigd < AMAdl AHad
AAUALAL G5 uea wd. yas AR [Blg (0, 0) 4 wlalHsdl 2iuadiml »ud ©.

(3) %A 2UHdL ax + by > ¢ AHAUAL ax + by < ¢ UsRl €14, dl B5adl vl ax + by = ¢ Al [Bigii-l

YR AHLAY AlY 9 i A salddl M2 el 8Ll vl el 1.

(4) A HAMdLax + by > c @ddlax + by < ¢, UsR-l €14, dl B5aHL vl ax + by = ¢ -l [Blgil-l

AL Al 2] 244 2L galadl M2 U8l qes vl 116 .
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[Aeol 6.2 1L 2uBlL 6L Adl x 2y UL 1A 42309 HHAHAL Hadl gdl,
40x +20y < 120 (D)

U 39041 gL AR 2 Urtd vilgal Aoit] s2usdn oulRLAs azui uRaAlid 53 24 ML U 531 el

~ N

S L AHAHALAL B3A Mol YRl AvAL o S1A d ollotd LA

c

il Hadley, 1201 5 daquiledl Aval 2yRils 5 8RL A LS AS

~

241 (3R 20uBL x 244 p L BHdl @4 (1) At o4 d 2d

dodlel, aRdaMl 2Udl sHYsd AL AR B AHAHAL (1)L
Gie o8 6.
gd, x = 0 dad w3ld s dl aHlse (1)« sieil oy,
40x + 20y =40 (0) + 20y = 20y.

- 20y <120 »Hadl y<6 . (2)

—_ N W A

x=0,412 y A Add M2l 0, 1,2, 3, 4,5, 644, dl vl X'
RaldHi (1) - 654l (0, 0), (0, 1), (0,2), (0,3), (0,4), (0, 5) 244
(0, 6) . Y
~ ~ ~ ~ - ~ Q,{l§[a6'6
d o Fd, PR x=1,2 243 ¢l dl (1) L
Gsel (1,0), (1, 1), (1,2), (1,3), (1, 4), (2,0), (2, 1),(2,2), (3,0) 8. d 2150 6.6 1i ealea 8.

8 UG x 2y AL wBad el Avaie]l Rl dirdls Ava s305 214l S6 3 2 Ralsi
2AUdl (1) -l B3¢ g 29l

N b 2 S

ad el 5 Gsa daaqaidl suduil Ad i wREalaul ay yameds 9. > éd e suusl (1) -
L uHls20l

40x + 20y = 120 .. (3)

ASg e d-ll 2udm el

N 2

L AIAU A IvL B, d AH-AHdA] A [ 2 A 11 Hi

(el 59 69,

AHAL T Al AW €2l HIZ UL A8dd T 4 25 Big (0, 0),

Ao v A2 5 x i p Al BHAL AAHALL A 52 O 5 AR,

AUl A wslal Yl 5 x =0, y = 0 2AANdALL AHALA 5269,

LUl 2Bl sl ASlA 3 AHAAL 2UAv a1 8. (sl 6.7)

aoll, Tuil U Ucds [Ble uRL sAHAL (1) < AMLHLL 52 9. el v UL \
Y 2ugld 6.7

BULAVAL D5 GLIL 69,
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LH, LU AAHALAL SUAV, 30 AlSd Ahded [ 9. el 2uve © 5 wHde [1 2UA vl 6idL Al 2ALH,

AHAL ()l G5¢ HL 2UAMAL dMIH Bigl O, (il AHA Al 2ddd 1)

gd, wuel seais Gelewil-dl weedl o ud-{l Y3Iu AUl G5 Auadil Gur ealda Fd wnwAL.

BEISRBL 9 & 3x + 2y > 6 il B3cd AW glRL el be
A
~ ~ a . ~ N B, 5T
B5E :3x+2y =6l 2UAM d2s vl gkl 2us[ 6.8 0l sulda ®. B PR
o .
a N A ~ ~ . N N 3% .
L AUl xy AHddA oL wdddl T 2 1140 [Reulsa 52 8. ¢d 5, I
NS - N A . NN c . 1T I“\
Ul 215 [6ig (% vl U Adl) (0, 0) ude s d wHdd [ 1 g ¢ m @ e
N N N S N . . o 1 2“\3 4 567
slde © (il 6.8). wd usl aslsl 5 241 [Blg AAHdL
v K
AULELA 52 9 5 Ald. (0, 0) 2 Gsa AL 518§ Y'

2usld 68
3(0)+2(0)>6

S ~

2§AAL 0 > 6, Acd Al 1], HdAd [0 HAHALAL G5 Al 2ure 9 5 3ul U 2ud 516 usl [bg
A ALY AL 52 Al ol woelHl sl dl P da 11 63a ugw suld 8. dxi v

Ul [Blglil Anid el adl el

Gelg2ml 10 : [Z-uRMeld dH-UHAdHl 3x — 6 = 0 L B3d »udw

glal sldl.
B35 1 3x—6 =0+l 21dm 5[ 6.9 1l saldd B,

gd el s Bl (0, 0)1 uAe s d-d AAHAHL Hsdl,

- N W A
—
x=2 -
y
"

1 2 N L L
IUBLA 3 (0)—6 >0 dUdl — 6 >0 Hagl, % Acd -l 21l G5e X<o 12|l 3 4 5 -
N 2 N N ~ . v
yed vl x =241(0, 0)d L Autadl vl wHRil oyl 2ol M
T 25ld 6.9
YS9l 9, AV vl AHIA O,
BEIERBL 11y <2 L B3d Udv glal Aadl,
B5a: vl y =2 <l 2udu 250 6.10 1 ealda S, ¥
28l vl 1AL a1 4l 245 Big (0, 0) wrie s34, y =04 44 -
~ . . ~ NN o 31 =
LA HAHAML Y5l 2UURA [ x 0 <2 AAdL 0 <2 4, % AA D, <2l = >
1 1 |
l, G5 gl il y = 2 1 1AL 20204 usa 9, 20y WUl x € S > X
12 3 45
A ucls Blg (vl uAl [Bigaidl ada adl el.) 2l ‘Y'

AU B3 we e eald 8. 215 6.10
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| 2wy 6.2

2] AAHALDAAL B3E 2121 2UAV YR [g-uRueld AH-AHdAH] Had) ¢

1. x+y<5 2. 2x+y=6 3. 3x+4y<12 4. y+82=22x
5. x—y<2 6. 2x—-3y>6 7. =3x+2y=2-6 8. 3y —5x <30
9. y<-=2 10. x>-3.

6.5 6l AQHI YI¥ AAUHARAAL Ag[al B4

200l (Aol 2Rl 2dv gll ol Ad ARAAL 430 2AHAUAL B5d Haaai-l d vl
Ayl 91y, ¢d LUBL 52dls BeleWBll gll 2dv glRl 6l AUl YIv AAHARAAL Asladl Bsa 54l
Ad Haadl d AnwH,

BELSR0L 12 ¢ AlAl A3u AL Ala-ll GEe idu gL Hadl,
x+y=5 (D)
x—y<3 .. (2)

Bie : yut AdlsR x + p = 5 Al wudv sl 6.11 w
galda &, »11usl S aslal ¢l 3 2AHALAL Ba, Il
x +y =5l Guasf Atdda 9. 20 ugad A s, A
uil YAl (Bl Bl A1 wd ©. gd 2L % el Hie
x—y=3-ladu R, d sl 6.11 1 sulda 9. ¢d
§AHAL (2)l B5e 3vl x — y =3 -l Gua-l 94 ugal 9.

Al vl Ul Bl aildl uel Auxida Ay 6,

el e 9 5 ol AAMARAIAL B5eAL 004 ue

odl Sl dal AUt {4 ueud 2dd HAAHAL A S[d-dl v
b by NN A
G5d usa 58 €9, A
SN N = . ~ Y ~ 10 o
Gelg2wl 13 ¢ Al A3u AU Aela-dl G3a »udm 0 \ X
glaL "l 8T
[ T
5x + 4y <40 () 61 %,
5 T \\70
x>2 . (2) 4 y=3
y>3 . (3) 2
1
PR ol 5x + 4y = — 9 g = X' € — >
B5a s ALYAH AHISWIL 5x + 4y =40, x =2 21 y =3 gl ol IERERE 8&
galadl uiaiidl 2id v g1R12, ¢d 2usl A S asla la v
YV

5 AUdL (1)l B5d usa vl 5x + 4y = 40 {1 A+l 2usld 6.12
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o0l GUAL 8. AAHAL (2)l B5A vl x = 2 «l wHR(L ollyg-il 2204 UL 2 AAHAL (3) -l G5a vl
y =3 «(l Gua-il 2ol @191 9, 214, AL 30U UL Blgall 2t o0l @ioL ULl A4l B5e sald

8. (sl 6.12)

aellot] cqagtRs uRRaladl siadl AAHAUHIAL A x 2y A1 BUdl 21981 €l 9. Gelenl dls

Beulled 2154l viledldi 2iddl axqail, sl salsl 492, evldl d 2Aal BRUSHL x>0,y >0 $14 &

A Al dH-dl G5 uuH AWML % {9, Y
N
GELSRBL 14 « 1A 24A3dL Al G3d Aol '\
35\
8x + 3y < 100 (D ..
x=20 (2) 25 +
Biel @ UL Il 8x + 3y = 100 il AU slFlzl. HAMdL 51 %
»
8x + 3y < 100 Al G3@ vusil 12l 320l oLLaL 89, FuL, vl ol B
[
8x +3p =100 Ui Bigil-il wel Ax1d Ad 8. (25l 6.13). e
5 -,
Y : S : N X' € ; } ; } —>X
aull, x>0,y 20,6, dul, 204 Y- WaH 240041 2idd ol s \15 20 25
ucds [Blg dal vl 2 el el dae Bleil sidd amdl Y
o 25ld 6.13
Asladl Bsa sauld 9.
GEl8RBL 15 f1A] 1AMl AsldrAl B3 1AM gl2L Hodl,
x+2y<8 . (1)
2x+y<$ - (2)
x>0 .. (3)
>0 o (4

B5e s BB IV x +2y = 821 2x +y = 8 Al 2ldU

glR1o1, AAHALDAL (1) 2 (2)20 vl Al AL
o0l @lol suld 9. dHi 3l udi [blgaill usl

AHLAI UL, 69,

aall, x> 0 ud y > 0 . dudl waH AWRH(

- N W AR/ N QR

2 el GuR ol UB AUl 2idd ucls [y xAHdL

~

Al G3d ealad. (Gusla 6.14). 1 23 40567859

Y ausles
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A2l 2AHdL Aeldnl G5d Ysa 2AM YR Hud)

1.

10.

11.

12.

13.

14.

x=23,y22

2x+y26,3x+4y <12
2x—y>1,x -2y <-1

2x+ y=8, x+2y=>10
Sx+4y<20, x>1,y=22

3x+4y <60,x+3y<30,x=20, y=20
2x+y24, x+y<3, 2x-3y<6
x—=2y<3,3x+4y 212, x=20,y=>1

4x+3y €60, y>2x, x=3, x,y=20

2. 3x+2y<12, x=21,y22
4. x+y=z4, 2x—y>0
6. x+y<6, x+y=>4

8. x+y<9, y>x, x20

3x+2y<150,x+4y <80, x<15, y>0,x=>0

x+2y<10,x+y21,x-y<0,x=20,y20

Belsam 16 : 63l : —8<5x—3<7

uslel Gelsel

NN

G5 @ wel, ARl ULl o HUHAGL — 8 < 5x — 3 i Sx — 3 < 7, 9. du- »Lusl s Al Giadl 9.

BGelgmW 17 : —5<

- 8<5x-3<7

Yl -5<5x <10

2YdL —1<x<2

5-3x

Gy : -5< <8

-10<5-3x<16 AYdL —15<-3x< 11

N -11 N
] =y < x <5730d el duil as.
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Bl 18 : 1A AAHAAA] ARl B3d ANl i G5 Avydv Y2 saidl.
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**Every body of discovery is mathematical in form because there is no
. 7
other guidance we can have — DARWIN**
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EXAMINATION 2l6g-l d¥1d [G2l s4AULA %l Aoesi™ UHIEL olsdl dlel oidladldl viid dl uas
g6t E 4l 93 dld d ase uddl 52dl oel ¢l ?
2500, 1,3,5,7 9 Al Gualdtell Yrizlad 42 6 2511 10 a3 Aot diy ddl edl Avail od 2
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21ddl 9. 835 oaril HLOHE 21191 3 Ul uAe s34 [enal>l st 8 uaddicl Faloidl Waot sl
o331 9. [Qenal sa seal wsl2 wacdl uie s w59 2

52 uriHial 5 utisl ueolldl ol1e12 28 ollealle id d 52dl Usl2 55l 531 s ?
Syl A 4 Al ¢RAl vidl 2Ad ollsadl 8 5 1@l you @A U gld. sudl sedl ausaril
sy oi 7

25 [aenallii- asli 10 (enal>id uded u2 @ gdl W12 uie sdi-dl 9. > [en(>0a 2 55l

~ hY

550 dlL 2 28ld yded U w9 aAdl 2A8Hig]l SIS A od, uded u dS wdl w2 [@enal>i-
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6La

Sedl usll yue s asy ?

duid S e »0d o Ad ASSASSINATION 2eestl Houal-l allsaril sedl usiR 53 as ?

A1
@ o1l Haoud Rigid : o 1S deril m (M st GeMd dal d UNBLs ollo dedl 7 (M2t UsR Gead
dl oI gerlall 20 $HHL BeMa d USRI Avdl m x 1 .
@ 5 (32t arqlimial # A 218 1A Yrldd 401 ddiall 4ol s3H2A Avdin 7P dd edldaiH 2Ud 8

n!

- (n—r)!’

214 "'P,

w4l 0<r<n, n+*0

®n=1x2x3x%x.xn

®nl=nxm-1)!

NN

@ 5 [ QrgiiHiel 7 dagiia 25 A8 YeAddA ABd datel Hadl sHE1H A0 27 a3 saladidi 214 9,
@ o1 20Ul 7 il Py 2l sl Aua3U argll ©, £ ollr wsiredl AHeAzu a2l 9, L. B ¥

n!

~

kusiil A4A3U Al €9 24 ollslH] arqil [Ba (%) €1y, dl) dLHodL sHARIL 4val= L]
1. 2 tao k.

&5 [ Qqimidl # dagiid 25 WA dael qadl A2AH Avad e ad eulddimi 2ud 8 i

n!
M= ' 0<r<n®, n*0

€= (n—r)

Historical Note

The concepts of permutations and combinations can be traced back to the advent of Jainism in India and
perhaps even earlier. The credit, however, goes to the Jains who treated its subject matter as a self-
contained topic in mathematics, under the name Vikalpa.

Among the Jains, Mahavira, (around 850) is perhaps the world’s first mathematician credited with
providing the general formulae for permutations and combinations.

In the 6th century B.C., Sushruta, in his medicinal work, Sushruta Samhita, asserts that 63
combinations can be made out of 6 different tastes, taken one at a time, two at a time, etc. Pingala, a
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Sanskrit scholar around third century B.C., gives the method of determining the number of combinations of
a given number of letters, taken one at a time, two at a time, etc. in his work Chhanda Sutra.
Bhaskaracharya (born 1114) treated the subject matter of permutations and combinations under the
name Anka Pasha in his famous work Lilavati. In addition to the general formulae for "C, and "P already
provided by Mahavira, Bhaskaracharya gives several important theorems and results concerning the
subject.

Outside India, the subject matter of permutations and combinations had its humble beginnings in
China in the famous book I-King (Book of changes). It is difficult to give the approximate time of this
work, since in 213 B.C., the emperor had ordered all books and manuscripts in the country to be burnt
which fortunately was not completely carried out. Greeks and later Latin writers also did some scattered
work on the theory of permutations and combinations.

Some Arabic and Hebrew writers used the concepts of permutations and combinations in studying
astronomy. Rabbi ben Ezra, for instance, determined the number of combinations of known planets taken
two at a time, three at a time and so on. This was around 1140. It appears that Rabbi ben Ezra did not
know the formula for "C,. However, he was aware that "C = "C,  for specific values n and r.
In 1321, Levi Ben Gerson, another Hebrew writer came up with the formulae for "P,, "P, and the
general formula for "C,.

The first book which gives a complete treatment of the subject matter of permutations and combinations
is Ars Conjectandi written by a Swiss, Jacob Bernoulli (1654 — 1705), posthumously published in 1713.
This book contains essentially the theory of permutations and combinations as is known today.
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(a+b)’=1 a+b#0
(@+b)!=a+b
(a+byY=a*+2ab + b*
(a+b)y=d+3a° + 3ab*+ b3
(a+by*=(a+ b (a+b)=a*+ 4a’b + 6a°b*> + 4ab® + b*
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(2x +3)>= (2x)° + 5(2x)* (3y) + 10(2x)° (3y)*> +10 (2x)* (3y)’ + 5(2x) 3y)* +(3y)°
= 3255 + 240x% + 720x3y2 + 1080x23 + 810xp* + 2435,
sd, ol SUURL (2x + 3y) 2 [A2del 2lad 1, dl uay 12 didaiol s+l 32 ugdl. L e 12 sidis
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c, 'c, 'c, 'c, 'c, ¢, 'c, 'C, B.
UM, VL IR Ve AAALSAAL (1), (ii) 240 (iii) vl e,
(a+ b)Y =7Cya’+ 7Ca% +7C,a’h? + 'Cya'b® + 'C @®b* + 'Ca?’ + 'Cab® + 1C.p7HIL.

L AHAdLselAL GuaioL 530 515 ULt yails widis 7 w2 [Bugl [de sedl s

g IUEL SISUBL A Yeils sidls w2 [Bueld [aeaer saidl Ralaul ¢l
8.2.1 1 ue 41 ygis n w1 lguel uAy
(a + by'="Ca"+"Ca"'h+"Ca"?h*+ ..+"C, ab"' +"Cp"
AUGLAL 2l oulRles wipuie-l Rigiazll aufsidl »undls.
1L 5 g [QaA
. — -1 ~272 -1 3
P(n) : (a + b)"="Ca"+"C\a"'b +"C,a" “b>+ ..+"C, ab" ' +"Cp" .
n=14"e,
P():(a+b)="Ca +'Cb'=a+buaal.
2, P (1) At 9.
Q2L 3 5155 Uet yails k12 P (k) ucd 9, vied 5,
(a + b =kCjak+*Cah= b +*Cya*-22 + .. +*C,_jabF-1+kC ok L (1)

B P(k + 1) WL A 8 a0l 53094, vied 3,

(a+ b}t =41C ak* +#1C b + #1C,ab 102 + L+ FICabh + 1 C b ilbia 3
¢d, (a+ b} =(a+b)(a+ by

=(a+b)(*}C a"+*Ca* b ++C a* 2 b2+, +4C,_ ab* 1+ iC bF) [(1) u:dl]
=kC,ak "1 +5C a'b ++C a* B? +.+*C,_ a?bF 1+ 4C ab
+C, akb +4C a2 +hC a2+ A K, abk +AC R RIEIEERERRTY
=kC @kl + (*C +*C) akb + (FC,+*C a1+ ..
+(*C,HkC, )abk +*kC bk [uU veld %]
= k+1C0a K+l 4 k“Clakb + k+1C2ak71b2+m+ k“Ckabk-i- 1f+1ck+1 pht1
(kC,= **'C =1, ke +kC, = F+1C uA kC = 1=F11C

Ly T GUARLED)
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M, A P(k) dd S, dl P (k+ 1) Ul Acd 9.
202l oURU[As AL Rigiadl, s 8 yRils n W2 P(n) A 8.
UL (x + 2)0 Al [8dR8L A3 2L UHU AL,
(x +2)° = 6CxE+6C x5 2 +6Cx422+6C x3- 23 +6C,x2- 24 +6C x- 25+ 6C,- 26
= x0+ 12x° + 60x* + 160x3+240x2 + 192x + 64

V{4, (x +2)° = xO+ 12x°+ 60x*+ 160x3+240x2 + 192x + 64

VAALSHL

n ki k
- n n- N
1 aidd p, "Cra” bty
k=0
"Cya"h® +1C a1 + A NC A" TH A IC, " TP I QUM B, Ul B0=1 = o "

el i uHUA 12 uHeL dvl asiy

n
(@a+b)"= "Cra" bt
k=0
2. [lguel wHaHl sadl qgaRst C [Buel Aarist dls aeildl ©.

3. (a+b)™ML [3AWUHL (n+]1) uel 8, ved 5 Hldis $dl w5 us dauI? 6.

4. [Ad2UL $HIAAR 2ddi UEML a -l Bldis 215 F2dl B2 9. uad Ueul n, ol Yedl (n—1) i 2L
o UHIBL IO %l did Sedl UeHl Aed 2l 8, A1 Al b -l Bldis 25 gedl a9 8, A3vld-dl Yau

uenl 9w, ofloHl 1 i 21 % WHIRL 1210 48l el UeHl Bldisdl n 4l vid 1 &,

5. (a+b)l [A2d0HL UM UeHl g i b -l BldisAl AAWN 7+ 0 = 1 9, oflog UsHl Vil AL
(n—1)+1=n 2 24 % WHIEL 2412100 dtdl 2[AH UsHl d AANL 0+ n=n ©. 214, [A2d01L &35

UHL g e b -l Hldisl AL 72 9.
8.2.2 (a + b)"-u [+ s2cus [alde [aseu
(i)  a=xb=—yddi, »uR-
=y =[x+t
= 1C x4+ 1C XM=Y (<) +"C X" Y—p)? +1Cx" () + ...+ 1C, ()"
="Cx"—"Cx" 1y +”C2x”’2y2—”C3x”*3y3 + ..+ (DT C, " Y.

WM, (x—p)" ="Cx"—"C x" 1y +1C x""2y2 —NC X3y + L+ (1) "C, y"
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2L WRRUHAL GUAIRL S,
(=2y) = Cpf® = Cix* (2p) +°C, 7 (2pF —C3X* 2) +°C, x(2p)* = °Co2yP
= > —10xy + 40:3)2 — 80x3)° + 80x)" — 32)°.
() a=121b=xddl,
(1 + Xy ="Cy(1y" +"C (1)~ 1x +"Cy(1y"-222 + ... +"C x"
="C, +"Cx +"C,x> +"Cx° + ... +"C x"
2UH, (1 +x) ="C, +"Cpx +"Cx? +"Cox® + ... +"C x"
(afre 3u, x=1 ddli,
2 =nCy+1C, +"C, + ... +"C,,
(iii)a= 124 b =—x dadi,
(I—xf' = "Cy—"Cpx +"Cp% — ... + (= 1) "C X"
[afEre 34, x = 1 ddi,

0 ="Cy—"C, +"C, — ... + (-1} "C,

4
3 . N
Gewdw 1 : [xz +;j ,x# 0 < [0l S

Bia : [guel wiuHl Gualol sdl, v

4 4

[xz %] —icey iy (5] 4ty [3]2“03()8) [§j+ ‘, @
3 9 27 81

=x¥+4.x. ;+6-x‘4- ?+4-x2-7+x—4

=3+ 120 + 542 + %+%.

Belgw 2 = (98) l ataidzl 2.

by NN L = N N N N ~ ~N ~N
B5a : o ol AvALLLAL Bl 2RIdR] U0 1A, ddl 6 AvABLLAL AALOUL AL d5ldd 23U 98 A dl-

(guel iyl Gualal 5304,
98 = 100 — 2 43
12, (98 = (100 —2)

=5C, (100) —>C, (100)* 2 +°C, (100°2% — °C; (100)* (2)® +°C, (100) 2)* —°C5 (2)
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=10000000000—5 x 100000000 x 2+ 10 x 1000000 x 4 —10 x10000 x 8 +5 x 100 x 16 —32
=10040008000— 1000800032 =9039207968.
BELSRBL 3 ¢ (1.01)199900 91q 10,000 Higll 181 a1 97
Bia : 1.01 -l 6l eudl 530 [Buel una-l Guallol 53] A3t Seais uel avily,
(1.01)1000000 = (] + (0] )1000000

= 1000000C 4 1000000C (0,01) + A+ Hsi UEL
=1+ 1000000 x 0.01 + i+ Hri UEl

=1+ 10000 + 24~ 8 YEL

> 10000

el (1.01)1%%9% > 10000

Bels0L 4 ¢ [guel wHuAL Gualal 3, ULBId 531 5 6751 < 25 A3 elaldl A €9l 1 e O. ne N

A c N

B5e : L YIS @ A Y AdR YRS b HI2 YRSl g ddl r HA, Fl a = bg + r %4, 0<r<|h| dl ¢ 4 cuosn

N NN

dal 7 AL AM 54 9. UM, 67— 5n <l 25 Al Aaldl WM 1 ¢ d¥ eldladl M2, »usl Alhd 5209 5

¢

6"— 5n =25k + 1, %4l k 5195 iqa1 yelis o,

n=142 6"-5n=6-5=1 =(25)-0+1. 20l n=1 "2 wRoun Ax 9.
¢d, 7>2 ddHl.

4d, (1+ay'="C,+"Cia+"Cya®+ ...+ "Ca" 4l a=5ddi,

(1+5)" ="C,+"C\5+"C,5% + ... +"C,5"

»2d §, 6" =1+5n+52"C,+53.7C,+ ..+ 5"

ied 5, 6"—5n =1+5% ("C,+"C,5 + ... + 5"°2) (n>2)
2l 6"—5n =1+25("C,+5-"Cy+ ...+ 5"2)

2l 6"—5n =25k+1 UL k="C,+5-"C,+ .. +5"2

(Y N

UL 89 5 %L 67— 5n+ 25 a3 ARl dl A 1 W €9,

wsst 1ol 5 <l 2Al0ieulsdaiie [@de 520,

5
1. (1-2x) 2. (2_£] 3. (2x-3)°
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